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3. Á|üX¯ï |üÁ‘·eTTqT ù||üs¡T d”\T ∫+∫ ‘Ó]∫q yÓ+≥H˚ MTs¡T dü] #·÷düTø√e\dæq$: (i) Á|ü‹ ù|J MT<ä ˇπø ãTø˘˝…{Ÿ ø√&é

(A/B/C/D) (ii) Á|üX¯ï\ es¡Tdü dü+K´ (1-200), (iii) ù|J\ dü+K´ eT]j·TT (iv) dü¬s’q Á|æ+{Ï+>¥. @<Ó’Hê ˝À|üeTT
ñqïjÓT&É\, <äj·T#̊dæ Çì«õ Ò̋≥sY≈£î ‘Ó*j·T|üs¡#·+&ç. |üØø£å ÁbÕs¡+_Û+∫q ◊<äT ì$TcÕ\ ˝À|ü\ n<̊ ãTø̆ …̋{Ÿ ø√&é >∑\ eTs=ø£
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1. The digit in the place of * so that the number 223*431 is divisible by 9 is

dü+K´ 223*431 qT 9 ìX‚Ùwü+>± uÛ≤–+#·{≤ìøÏ * kÕúq+˝À ñ+&Ée\dæq n+¬ø
(1) 3 (2) 4 (3) 5 (4) 6

________________________________________________________________________
2. The number of terms in the sequence 2, 4, 8, 16, ...., 1024

nqTÁø£eTeTT 2, 4, 8, 16, ...., 1024 ˝À |ü<ë\ dü+K´
(1) 7 (2) 8 (3) 9 (4) 10

________________________________________________________________________
3. If one third of the one fourth of a number is 15, then one tenth of that number is

ˇø£ dü+K´˝Àì Hê\T>∑e e+‘·T˝À eT÷&Ée e+‘·T 15 nsTT‘˚, Ä dü+K´˝À |ü<äe e+‘·T
(1) 12 (2) 16 (3) 18 (4) 22

________________________________________________________________________
4. The largest four - digit number exactly divisible by 88 is

88 #˚ K∫Ã‘·+>± uÛ≤–+|üã&˚ Hê\T>∑+¬ø\ >∑]wü̃ dü+K´
(1) 9944 (2) 9768 (3) 9988 (4) 8888

________________________________________________________________________
5. If the H.C.F of three numbers which are in the ratio 1:2:3 is 12, then the numbers are

1:2:3 ìwüŒ‹Ô̋ À ñqï eT÷&ÉT dü+K´\ >∑.kÕ.uÛ≤ 12 nsTT‘˚ Ä dü+K´\T
(1) 12, 24, 36 (2) 11, 22, 33 (3) 12, 24, 32 (4) 5, 10, 15

________________________________________________________________________
6. The remainder when 6799 is divided by 7 is

6799 ì 7 ‘√ uÛ≤–ùdÔ e#·TÃ X‚wü+
(1) 4 (2) 6 (3) 1 (4) 2

________________________________________________________________________
7. The number which does not suit in the sequence 8, 12, 18, 26, 38, 48, 62 is

nqTÁø£eT+ 8, 12, 18, 26, 38, 48, 62 ˝À dü]b˛ì dü+K´
(1) 18 (2) 26 (3) 38 (4) 48

Time : 3 Hours Marks : 200

Instructions :

(i) Each question carries one mark.

Á|ü‹ Á|üX¯ï≈£î ˇø£ e÷s¡Tÿ ø£\<äT.
(ii) Choose the correct or most appropriate answer from the given options to the following

questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

~>∑Te Ç∫Ãq Á|ü‹ Á|üX¯ï≈£î Çe«ã&çq yê{Ï̋ À dü]jÓÆTq düe÷<ÛëqeTTqT mqTïø=ì <ëìì dü÷∫+#˚
n+¬ø 1, 2, 3 ˝Òø£ 4 y˚s¡T>± Ç∫Ãq OMR düe÷<Ûëq |üÁ‘·eTT˝À Á|üX¯ï dü+K´≈£î m<äTs¡T>± >∑\
dü+ã+~Û‘· ù|{Ïø£qT ã÷¢/u≤¢ø˘ u≤ Ÿ̋ bÕsTT+{Ÿ ô|qTï ñ|üjÓ÷–+∫ ì+|üe …̋qT.
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8. If  ( )21
44339 3879,

12
x× + =  then the value of x is

( )21
44339 3879

12
x× + =  nsTT‘˚, x $\Te

(1) 43 (2) 57 (3) 37 (4) 47
________________________________________________________________________
9. The L.C.M. of two numbers is 495 and their HCF is 5.  If the sum of the two numbers is

100 then their difference is

¬s+&ÉT dü+K´\ ø£.kÕ.>∑T 495 eT]j·TT yê{Ï >∑.kÕ.uÛ≤ 5. Ä ¬s+&ÉT dü+K´\ yÓTT‘·Ô+ 100 nsTT‘˚,
yê{Ï uÛÒ<ä+
(1) 10 (2) 46 (3) 70 (4) 90

________________________________________________________________________

10. 5  = 2.2361, 3  = 1.7321   
1

5 3−  =

(1) 1.984 (2) 1.9841 (3) 1.98 (4) 2
________________________________________________________________________
11. A sum of Rs. 7,200 amounts to Rs. 9,360 in 6 years at a certain rate of simple interest.

The amount, if the rate of interest is increased by 4% is (in rupees)

ˇø£ kÕ<Ûës¡D e&û¶ πs≥T˝À s¡÷ˆˆ 7,200\T 6 dü+e‘·‡sê\˝À s¡÷ˆˆ 9,360\ yÓTT‘·Ô+ ne⁄‘√+~. Ä
e&û¶πs≥TqT 4% ô|+∫‘˚ e#˚Ã yÓTT‘·Ô+ (s¡÷bÕj·T\˝À)
(1) 10,080 (2) 10,880 (3) 11,088 (4) 12,880

________________________________________________________________________
12. The present worth of Rs. 132 due in two years at 5% simple interest per annum (in rupees) is

¬s+&ÉT dü+e‘·‡sê\˝À 5% kÕ<Ûës¡D e&û¶‘√ s¡÷. 132 yÓTT‘·Ô+ nj̊T´ kıeTTà Á|üdüTÔ‘· $\Te (s¡÷bÕj·T\˝À)
(1) 120 (2) 122 (3) 112 (4) 118.80

________________________________________________________________________
13. A person borrowed a sum of money with simple interest as given below:

(i) 6% per annum for the first three years
(ii) 8% per annum for the next five years
(iii) 12% per annum for the next four years
If he paid a total interest of Rs. 4,240, the money he borrowed (in rupees) is

ø=+‘· kıeTTàqT ˇø£ e´øÏÔ á ÁøÏ+~ $<Ûä+>± kÕ<Ûës¡D e&û¶øÏ rdüT≈£îHêï&ÉT
(i) yÓTT<ä{Ï eT÷&ÉT dü+e‘·‡sê\˝À dü+e‘·‡sêìøÏ 6%

(ii) ‘·s¡Tyê‹ ◊<äT dü+e‘·‡sê\˝À dü+e‘·‡sêìøÏ 8%

(iii) Ä ‘·s¡Tyê‹ Hê\T>∑T dü+e‘·‡sê\˝À dü+e‘·‡sêìøÏ 12%

n‘·qT e&û¶ s¡÷ù|D≤ yÓTT‘·Ô+ s¡÷ˆˆ 4,240 \T #Ó*¢ùdÔ, n‘·qT rdüT≈£îqï n|ü (s¡÷bÕj·T\˝À)
(1) 3,000 (2) 3,500 (3) 4,000 (4) 4,050
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14. A shopkeeper gives two successive discounts of 10% and 20%.  If he sells an article for
Rs. 432, then the marked price of the article is (in rupees)

ˇø£ <äTø±D<ës¡T 10% eT]j·TT 20% es¡Tdü sêsTTr\qT Ç#êÃ&ÉT. n‘·qT ˇø£ edüTÔe⁄qT
s¡÷ˆˆ 432 \≈£î n$Tà‘˚, Ä edüTÔe⁄ jÓTTø£ÿ Á|üø£{Ï‘· $\Te (s¡÷ˆˆ\˝À)
(1) 526 (2) 550 (3) 600 (4) 626

________________________________________________________________________

15. Two equal sums of money were invested, one at 4% and the other at 4
1

2
%.  At the end of

7 years, if the simple interest received from the later exceeds that received from the former
by Rs. 94.50, then each sum was (in rupees)

ˇø£ <ëìøÏ 4% #=|üq, eTs=ø£<ëìøÏ 4
1

2
% #=|üq ¬s+&ÉT düe÷q yÓTT‘êÔ\qT ô|≥Tºã&ç ô|{≤ºs¡T.

7 dü+ˆˆ\ ‘·s¡Tyê‘· ¬s+&Ée yÓTT‘·Ô+ô|’q e∫Ãq kÕ<Ûës¡D e&û¶, yÓTT<ä{Ï <ëìô|’ e∫Ãq <ëìø£Hêï s¡÷.
94.50 m≈£îÿesTT‘˚, ˇø=ÿø£ÿ yÓTT‘·Ô+ (s¡÷bÕj·T\˝À)
(1) 2,600 (2) 2,700 (3) 2,700.50 (4) 2,685

________________________________________________________________________

16. The simple interest on a sum of money is  
9

4
 of the principal and the number of years is

equal to the rate percent per annum.  Then the rate per annum is

ø=+‘· yÓTT‘·Ô+ô|’ kÕ<Ûës¡D e&û¶ <ëì ndü\T˝À 
9

4
e e+‘·T. eT]j·TT dü+e‘·‡sê\ dü+K´, dü+e‘·‡sêìøÏ

e&û¶ XÊ‘·|ü⁄ dü+K´‘√ düe÷q+. nsTT‘˚ dü+e‘·‡sêìøÏ e&û¶
(1) 10% (2) 12% (3) 13% (4) 15%

________________________________________________________________________
17. The difference between the compound interest and simple interest at the rate of 14% per

annum on Rs. 5,000 for two years will be (in rupees)

s¡÷ˆˆ 5,000 \ô|’ dü+e‘·‡sêìøÏ 14% #=|üq ¬s+&ÉT dü+e‘·‡sê\≈£î #·Áø£e&û¶ eT]j·TT kÕ<Ûës¡D e&û¶\
eT<Ûä́  e´‘ê´dü+ (s¡÷bÕj·T\˝À)
(1) 98 (2) 86 (3) 72 (4) 88

________________________________________________________________________
18. A person borrows Rs. 3,200 to be paid back with compound interest at the rate of 5% per

annum by the end of 2 years in two equal yearly instalments.  Then each instalment
(in rupees) is

ˇø£ e´øÏÔ s¡÷ˆˆ 3,200 \qT dü+e‘·‡sêìøÏ 5% #·Áø£e&û¶øÏ ¬s+&ÉT dü+e‘·‡sê\˝À ¬s+&ÉT düe÷q kÕ\Tdü]
yêsTT<ë\T>± ‹]– Ç#˚Ã≥≥T¢ n|ü rdüT≈£îHêï&ÉT. n|ü⁄&ÉT ˇø=ÿø£ÿ yêsTT<ë yÓTT‘·Ô+ (s¡÷bÕj·T\˝À)
(1) 1,764 (2) 1,880 (3) 1,894 (4) 1,924
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19. A tree increases annually by 
1

5
 th of its height. If it stands today at 125 cm., then its height

after 2 years is (in cms.)

ˇø£ #Ó≥Tº Á|ü‹ dü+e‘·‡s¡eT÷ <ëì m‘·TÔ˝À 
1

5
e e+‘·T ô|s¡T>∑T‘·T+~. <ëì Á|üdüTÔ‘·|ü⁄ m‘·TÔ

125 ôd+.MT. nsTT‘˚, 2 dü+e‘·‡sê\ ‘·s¡Tyê‘· <ëì m‘·TÔ (ôd+.MT.\˝À)
(1) 160 (2) 170
(3) 180 (4) 185

________________________________________________________________________
20. If a certain sum of money at compound interest grows upto Rs. 12,960 in 2 years and upto

Rs. 13,176 in 3 years, then the rate of interest per annum is

ø=+‘· kıeTTà #·Áø£e&û¶‘√ 2 dü+e‘·‡sê\˝À s¡÷ˆˆ 12,960 øÏ eT]j·TT 3 dü+e‘·‡sê\˝À s¡÷ˆˆ 13,176

\øÏ ô|]–‘˚, dü+e‘·‡sêìøÏ e&û¶ πs≥T

(1) 2
1

3
 % (2) 2

2

3
% (3) 1

1

3
% (4) 1

2

3
%

________________________________________________________________________
21. The time for Rs. 1,000 to amount to Rs. 1,331 at 20% per annum, compounded half -

yearly is (in years)

ns¡∆ dü+e‘·‡sêìøÏ #·Áø£e&û¶ y˚ùd |ü<ä∆‹˝À dü+e‘·‡sêìøÏ 20% πs≥T‘√ s¡÷ˆˆ 1,000 yÓTT‘·Ô+ s¡÷ˆˆ 1,331

ne{≤ìøÏ |üfÒº ø±\eTT (dü+e‘·‡sê\˝À)

(1) 1
1

2
(2) 1 (3) 2 (4) 2

1

2
________________________________________________________________________
22. Two numbers are in the ratio of 11:13.  If 12 is subtracted from each, the ratio becomes

7:9.  The smaller number them is

¬s+&ÉT dü+K´\T 11:13 ìwüŒ‹Ô˝À ñHêïsTT. ˇø=ÿø£ÿ <ëì qT+&ç 12 rdæy˚ùdÔ, Ä ìwüŒ‹Ô 7:9

ne⁄‘·T+~. yê{Ï̋ À ∫qï dü+K´
(1) 11 (2) 22 (3) 33 (4) 39

________________________________________________________________________
23. The sum of three numbers is 186.  If the ratio between the first and second is 2:3 and that

between the second and third is 7:9, then the second number is

eT÷&ÉT dü+K´\ yÓTT‘·Ô+ 186. yÓTT<ä{Ï ¬s+&ÉT dü+K´\ eT<Ûä́  ìwüŒ‹Ô 2:3 eT]j·TT ¬s+&Ée, eT÷&Ée
dü+K´\ eT<Ûä́  ìwüŒ‹Ô 7:9 nsTT‘˚ ¬s+&Ée dü+K´
(1) 53 (2) 63 (3) 58 (4) 68
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24. The price of a scooter and a television set are in the ratio 3:2.  If a scooter costs Rs. 10,000
more than the television set, then the price of the scooter is (in rupees)

ˇø£ dü÷ÿ≥sY eT]j·TT f…*$»Hé (television) ôd{Ÿ\ <Ûäs¡\ ìwüŒ‹Ô 3:2. dü÷ÿ≥s¡T <Ûäs¡ f…*$»Hé <Ûäs¡
ø£Hêï s¡÷. 10,000 m≈£îÿesTT‘˚, n|ü⁄&ÉT dü÷ÿ≥sY <Ûäs¡ (s¡÷ˆˆ\˝À)
(1) 30,000 (2) 40,000
(3) 45,000 (4) 50,000

________________________________________________________________________

25. When 30 percent of a number is added to another number, the second number increases by
20 percent.  Then the ratio between the first and second number is

ˇø£ dü+K´˝À 30 XÊ‘·+ Ç+ø=ø£ dü+K´≈£î ø£*|æ‘˚, Ä ¬s+&Ée dü+K´ 20 XÊ‘·+ ô|s¡T>∑T‘·T+~. Ä
yÓTT<ä{Ï eT]j·TT ¬s+&Ée dü+K´\ ìwüŒ‹Ô
(1) 3:2 (2) 2:3 (3) 2:5 (4) 3:5

________________________________________________________________________

26. If x : y = 3 : 4, then (7x + 3y) : (7x – 3y) =

x : y = 3 : 4 nsTT‘˚, (7x + 3y) : (7x – 3y) =

(1) 5 : 2 (2) 4 : 3 (3) 11 : 3 (4) 37 : 19
________________________________________________________________________

27. The students in three classes are in the ratio 2 : 3 : 5.  If 40 students are increased in each
class, the ratio changes to 4 : 5 : 7.  Originally, the total number of students is

eT÷&ÉT ‘·s¡>∑‘·T\˝À $<ë´s¡Tú\T 2 : 3 : 5 ìwüŒ‹Ô̋ À ñHêïs¡T. ̌ ø=ÿø£ÿ ‘·s¡>∑‹˝À 40 eT+~ $<ë´s¡Tú\T
m≈£îÿesTT‘˚ Ä ìwüŒ‹Ô 4 : 5 : 7 >± e÷s¡T‘·T+~. yÓTT<ä{À¢ ñqï yÓTT‘·Ô+ $<ë´s¡Tú\ dü+K´
(1) 100 (2) 180
(3) 200 (4) 400

________________________________________________________________________

28. If  a:b = c:d = e:f = 1:2, then (pa + qc + re) : (pb + qd + rf) =

a:b = c:d = e:f = 1:2 nsTT‘˚ (pa + qc + re) : (pb + qd + rf) =

(1) 1 : 3 (2) 1:2 (3) 2 : 3 (4) 3 : 2
________________________________________________________________________

29. A pipe of diameter ‘d’ can drain a water tank in 40 minutes.  The time taken by a pipe of
diameter ‘2d’ for doing the same job is (in minutes)

yê´düeTT ªdμ >∑\ ˇø£ >=≥ºeTT ˇø£ ˙fi¯fl ‘={Ïºì 40 ì$TcÕ\˝À U≤∞ #˚düTÔ+~. n<˚ |üì #˚j·T{≤ìøÏ
‘2d’ yê´düeTT>± >∑\ >={≤ºìøÏ |üfÒº düeTj·T+ (ì$TcÕ\˝À)
(1) 5 (2) 10 (3) 20 (4) 50
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30. A pump can fill a tank with water in 2 hours.  Because of a leakage it took 2
1

3
 hours to fill

the tank.  The time taken to empty the full tank due to leakage (in hours) is

ˇø£ ≈£îfi≤sTT ˇø£ ‘={Ïºì ˙{Ï‘√ 2 >∑+ˆˆ\˝À ì+|ü>∑\<äT. Ä ‘={ÏºøÏ ñqï ˇø£ ©πøõ eT÷\+>± <ëìì

ì+|ü{≤ìøÏ 2
1

3
 >∑+ˆˆ\T |ü{Ïº+~. Ä ©πøõe\¢ ì+&ÉT ‘={Ïº U≤∞ ne&ÜìøÏ |üfÒº düeTj·T+ (>∑+≥\˝À)

(1) 8 (2) 7 (3) 10 (4) 14
________________________________________________________________________

31. A water tank is 
2

5
th full.  Pipe A can fill the tank in 10 minutes and pipe B can empty it in

6 minutes.  If both the pipes are open, the time taken to empty or fill the tank completely is
(1) 6 minutes to empty (2) 6 minutes to fill
(3) 9 minutes to empty (4) 9 minutes to fill

ˇø£ ˙fi¯fl ‘={Ïº 
2

5
 uÛ≤>∑+ ì+&ç ñ+~. >=≥ºeTT A <ëìì 10 ì$TcÕ\˝À ì+|ü>∑*–‘˚, >=≥ºeTT

B <ëìì 6 ì$TcÕ\˝À U≤∞ #˚j·T>∑\T>∑T‘·T+~. ¬s+&ÉT >={≤º\÷ ‘Ó]∫ ñ+∫‘˚ Ä ‘={Ïº |üP]Ô>± U≤∞
ne{≤ìøÏ >±˙ Ò̋ø£ |üP]Ô>± ì+&É&ÜìøÏ >±˙ |üfÒº düeTj·T+
(1) U≤∞ ne{≤ìøÏ 6 ìˆˆ\T (2) ì+&É{≤ìøÏ 6 ìˆˆ\T
(3) U≤∞ ne{≤ìøÏ 9 ìˆˆ\T (4) ì+&É{≤ìøÏ 9 ìˆˆ\T

________________________________________________________________________

32. The average price of 16 different books is Rs. 18.  While the average price of 14 of these
books is Rs. 16.50 and of the remaining two books, if the price of one is 50% of the other,
then the price of these two books is (in rupees)

16 yπ̊s«s¡T |ü⁄düÔø±\ dü>∑≥T KØ<äT s¡÷. 18. yêì˝Àì 14 |ü⁄düÔø±\ dü>∑≥T KØ<äT s¡÷. 16.50 eT]j·TT
$T–*q ¬s+&ÉT |ü⁄düÔø±\˝À ˇø£ <ëì <Ûäs¡ ¬s+&Ée <ëì <Ûäs¡̋ À 50% nsTT‘˚, Ä ¬s+&ÉT |ü⁄düÔø±\ <Ûäs¡
(s¡÷bÕj·T\˝À)
(1) 13, 26 (2) 17, 34 (3) 19, 38 (4) 21, 42

________________________________________________________________________

33. If the average of  x and 
1

x
 (x ≠  0) is M, then the average of  x2 and 2

1

x
 is

x eT]j·TT 
1

x
 (x ≠  0) \ dü>∑≥T M nsTT‘˚ x2 eT]j·TT 2

1

x
 \ dü>∑≥T

(1) 1 – M2 (2) 1 – 2M (3) 2M2 – 1 (4) 2M2 + 1
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34. The average age of  28 students of a class is 12 years.  If their teacher’s age is included the
average age increases by one year.  Then the age of the teacher (in years) is
ˇø£ ‘·s¡>∑‹˝Àì 28 eT+~ $<ë´s¡Tú\ dü>∑≥T ej·TdüT 12 dü+e‘·‡sê\T. yê] ñbÕ<Ûë´j·TTì ej·TdüT
ø£*|æ‘˚ Ä dü>∑≥T eTs=ø£ dü+e‘·‡s¡+ ô|s¡T>∑T‘·T+~. n|ü⁄&ÉT Ä ñbÕ<Ûë´j·TTì ej·TdüT‡ (dü+ˆˆ\˝À)
(1) 41 (2) 40 (3) 39 (4) 38

________________________________________________________________________

35. A batsman in his 12th innings, makes a score of 63 runs and thereby increased his average
score by 2 runs.  The average of his score after 12th innings is
ˇø£ u≤{Ÿ‡y˚THé ‘·q 12 e Çì‡+>∑T‡˝À 63 |üs¡T>∑T\T #˚dæ, ‘·q k˛ÿsY dü>∑≥TqT <ëìe\¢ 2 |üs¡T>∑T\T
ô|+#·Tø=Hêï&ÉT. Ä 12 e Çìï+>¥‡ ‘·s¡Tyê‘· n‘·ì dü>∑≥T k˛ÿs¡T
(1) 42 (2) 41 (3) 35 (4) 34

________________________________________________________________________

36. The average of 9 numbers is 30.  If the average of first 5 numbers is 25 and that of the last
3 numbers is 35 Then the 6th number is

9 dü+K´\ dü>∑≥T 30. yÓTT<ä{Ï 5 dü+K´\ dü>∑≥T 25 eT]j·TT ∫e] 3 dü+K´\ dü>∑≥T 35 nsTT‘˚,
6 e dü+K´
(1) 20 (2) 30 (3) 40 (4) 50

________________________________________________________________________

37. Out of three numbers, the first is twice the second and is half of the third.  If the average of
the three numbers is 56, then the difference of the first and third numbers is

eT÷&ÉT dü+K´\˝À yÓTT<ä{Ï dü+K´ ¬s+&Ée<ëìøÏ ¬s+&ç+‘·\÷ eT]j·TT eT÷&Ée <ëì˝À dü>∑+. á
eT÷&ç+{Ï dü>∑≥T 56 nsTT‘˚ yÓTT<ä{Ï dü+K´ eT]j·TT eT÷&Ée dü+K´\ eT<Ûä́  uÛÒ<ä+
(1) 12 (2) 20 (3) 24 (4) 48

________________________________________________________________________

38. In an examination it is required  to get 40% of the aggregate marks to pass. A student gets
142 marks and is declared failed by 18 marks.  The maximum marks of the examination is

ˇø£ |üØø£å̋ À ñrÔs¡Tí&Ée{≤ìøÏ yÓTT‘·Ô+ e÷s¡Tÿ\˝À 40% e÷s¡Tÿ\T sêyê*. ̌ ø£ $<ë´]ú 142 e÷s¡Tÿ\T
bı+~ 18 e÷s¡Tÿ\T ‘·≈£îÿesTTq+<äTe\¢ ‘·|æŒq≥T¢ Á|üø£{Ï+#ês¡T. Ä |üØø£å≈£î >∑]wü̃ e÷s¡Tÿ\T
(1) 600 (2) 400 (3) 460 (4) 520

________________________________________________________________________

39. The population of a town is 1,54,000.  It increases by 5% during the first year.  During the
second year it decreases by 10% and increases by 10% during the third year.  Then the
population of the town after 3 years is
ˇø£ |ü≥ºD+˝Àì »HêuÛ≤ 1,54,000. yÓTT<ä{Ï dü+e‘·‡s¡+˝À n~ 5% ô|]–+~. ¬s+&Ée dü+e‘·‡s¡+˝À
n~ 10% ‘·–Z eTs¡\ eT÷&Ée dü+e‘·‡s¡+˝À 10% ô|]–+~. eT÷&ÉT dü+e‘·‡sê\ ‘·s¡Tyê‘· Ä |ü≥ºD
»HêuÛ≤
(1) 1,61,700 (2) 1,60,700 (3) 1,60,083 (4) 1,70,062
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40. A number x is increased by 30% and then decreased by 30%, then the number x
(1) Does not change (2) Decreases by 6%
(3) Increases by 6% (4)  Decreases by 9%
ˇø£ dü+K´ x qT 30% ô|+∫, ‘·s¡Tyê‘· 30% ‘·–Z+#ês¡T. Ä dü+K´ x
(1) e÷s¡<äT (2) 6% ‘·–Z+~
(3) 6% ô|]–+~ (4) 9% ‘·–Z+~

________________________________________________________________________
41. One side of a square is increased by 20%.  To maintain the same area the other side will

have to be decreased by

#·‘·Ts¡Ádü|ü⁄ ̌ ø£ uÛÑT»+qT 20% ô|+#ês¡T. n<̊ yÓ’XÊ\´+>± ñ+&É{≤ìøÏ <ëì ¬s+&Ée uÛÑTC≤ìï ‘·–Z+#·e\dæq~

(1) 16
2

3
% (2) 14

2

3
% (3) 11

1

3
% (4) 14

1

3
%

________________________________________________________________________
42. Two numbers are in the ratio 5:4.  If 40% of the first number is 120, then 60% of the

second number is equal to

¬s+&ÉT dü+K´\T 5:4 ìwüŒ‹Ô̋ À ñHêïsTT. 120 yÓTT<ä{Ï dü+K´˝À 40% nsTT‘˚ ¬s+&Ée dü+K´˝À
60% øÏ düe÷qyÓTÆq~
(1) 124 (2) 134 (3) 144 (4) 156

________________________________________________________________________
43. In an examination there were 640 boys and 360 girls. If 60% of boys and 70% of girls were

successful, the percentage of failure was

ˇø£ |üØø£å̋ À 640 eT+~ u≤\Ts¡T, 360 eT+~ u≤*ø£\T ñHêïs¡T. 60% u≤\Ts¡T eT]j·TT 70%

u≤*ø£\T ñrÔs¡Tí\sTT‘˚, ‘·|æŒq yê] XÊ‘·+
(1) 36.4% (2) 35.4% (3) 32.8% (4) 35.6%

________________________________________________________________________
44. A person gave 20% of his income to his elder son, 30% of the remaining to the younger

son and 10% of the balance he donated to a trust.  If he is left with Rs. 10,080.  His income
(in rupees)

ˇø£ e´øÏÔ ‘·q Ä<ëj·T+˝À 20% ô|<ä› ≈£îe÷s¡TìøÏ, $T–*q <ëì˝À 30% ∫qï ≈£îe÷s¡TìøÏ Ç∫Ã
Ç+ø± $T–*q <ëì˝À 10% ˇø£ Á≥düTº≈£î <ëq+ #˚XÊ&ÉT. n‘·ì e<ä› Ç+ø± s¡÷ˆˆ 10,080 $T–*‘˚,
n‘·ì Ä<ëj·TeTT (s¡÷bÕj·T\˝À)
(1) 50,000 (2) 40,000 (3) 30,000 (4) 20,000

________________________________________________________________________
45. The difference between a discount of 35% and two successive discounts of 20% and

20% on a certain bill is Rs. 22.  Then the amount of the bill (in rupees) is

ˇø£ _\T¢ô|’ 35% sêsTTrøÏ eT]j·TT ¬s+&Ée es¡dü sêsTTr\T 20%, 20% \ eT<Ûä́  uÛÒ<ä+ s¡÷ˆˆ 22.
nsTT‘˚ Ä _\T¢ô|’qTqï yÓTT‘·Ô+ (s¡÷bÕj·T\˝À)
(1) 1,100 (2) 2,000 (3) 2,200 (4) 2,640
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46. A sells a house to B at a profit of 12%.  B sells it to C at a loss of 10% and C sells it to D
for Rs. 21,44,520 making a profit of 15%.  The cost of the house for A (in rupees) is

A ˇø£ Ç+{Ïì B øÏ 12% ˝≤uÛ≤ìøÏ ne÷à&ÉT. B <ëìì 10% qcÕºìøÏ C øÏ eT]j·TT C <ëìì 15%

˝≤uÛÑ+ e#˚Ã≥T¢ D øÏ s¡÷ˆˆ 21,44,520 øÏ ne÷às¡T. A Ä Ç+{Ïì ø=qï yÓ\ (s¡÷bÕj·T\˝À)
(1) 20,00,000 (2) 18,50,000 (3) 25,00,000 (4) 22,50,000

________________________________________________________________________
47. A trader sells an article at a profit of 30%.  Had he sold it for Rs. 352 less, he would have

gained 20% only.  The cost price of the article is (in rupees)

ˇø£ es¡Ô≈£î&ÉT ˇø£ edüTÔe⁄qT 30% ˝≤uÛ≤ìøÏ ne÷à&ÉT. n‘·qT <ëìì s¡÷. 352 ‘·≈£îÿe>± n$Tà
ñ+fÒ n‘·ìøÏ 20% e÷Á‘·y˚T ˝≤uÛÑ+ e∫Ã ñ+&˚~. Ä edüTÔe⁄ ø=qï <Ûäs¡ (s¡÷bÕj·T\˝À)
(1) 3,520 (2) 3,580 (3) 1,560 (4) 1,700

________________________________________________________________________
48. A man bought 6 apples for Rs. 24 and sold them at 4 apples for Rs. 20.  His profit

percentage is

ˇø£ e´øÏÔ s¡÷. 24 \≈£î 6 j·÷|æ̋ Ÿ\qT ø=ì, s¡÷. 20 \≈£î 4 j·÷|æ̋ Ÿ\T #=|üq ne÷à&ÉT. n‘·ì
˝≤uÛÑ XÊ‘·+
(1) 25 (2) 30 (3) 40 (4) 50

________________________________________________________________________
49. A shopkeeper sold two pressure cookers for Rs. 1,800 each.  On one he gains 30% and on

the other he loses 25%.  His gain or loss percent in the whole transaction is
(1) 4.88% Loss (2) 4.88% Gain (3) 3.74% Loss (4) 3.74% Gain
ˇø£ <äTø±D<ës¡T ¬s+&ÉT Áô|wüsY ≈£îø£ÿs¡¢qT ˇø=ÿø£ÿ{Ï s¡÷. 1,800 \≈£î ne÷à&ÉT. ˇø£ <ëìô|’ n‘·ìøÏ
30% ˝≤uÛÑ+ sê>± ¬s+&Ée <ëìô|’ 25% qwüº+ e∫Ã+~. á yÓTT‘·Ô+ ˝≤yê<˚M˝À n‘·ìøÏ ø£*–q ˝≤uÛÑ+

Ò̋ø£ qwüº+.
(1) 4.88% qwüº+ (2) 4.88% ˝≤uÛÑ+ (3) 3.74% qwüº+ (4) 3.74% ˝≤uÛÑ+

________________________________________________________________________
50. The profit earned by selling an article for Rs.832 is equal to the loss incurred, when the

same article is sold for Rs. 448.  Then the sale price of the article for making 50% profit
should be (in rupees)

ˇø£ edüTÔe⁄qT s¡÷. 832 \≈£î neTà>± e∫Ãq ˝≤uÛÑ+ n<˚ edüTÔe⁄qT s¡÷. 448 \≈£î neTà>± e∫Ãq
qwüº+‘√ düe÷q+. nsTT‘˚ 50% ˝≤uÛÑ+ sêe{≤ìøÏ <ëì neTàø£|ü⁄ $\Te (s¡÷bÕj·T\˝À)
(1) 920 (2) 960 (3) 1,060 (4) 1,200

________________________________________________________________________
51. If gross profit is 34% of the selling price of an item and x percentage of its selling price is

equal to 25 percentage of its cost price, then x =

ˇø£ edüTÔe⁄ ìø£s¡ ˝≤uÛÑ+ n$Tàq yÓ\˝À 34% nsTT ñ+&ç eT]j·TT <ëì n$Tàq yÓ\˝À x XÊ‘·eTT,
ø=qï yÓ\˝À 25 XÊ‘·eTTq≈£î düe÷qeTT nsTT‘˚ x =
(1) 15.4 (2) 16.5 (3) 17 (4) 18.3
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52. A sells a pillow to B at a profit of  20%.  B sells it to C at a profit of 25%.  If C pays Rs. 243
for it, the cost price of the pillow for A (in Rupees) is

20% ˝≤uÛ≤ìøÏ A ˇø£ ~+&ÉTì B øÏ ne÷à&ÉT. B <ëìì 25% ˝≤uÛ≤ìøÏ C øÏ ne÷à&ÉT. <ëìøÏ C

s¡÷. 243 #Ó*¢ùdÔ A Ä ~+&ÉTì ø=qï yÓ\ (s¡÷bÕj·T\˝À)
(1) 150 (2) 160 (3) 162 (4) 173

________________________________________________________________________
53. In a class having 40 boys and some girls, the average ages of boys and girls are 13.5 years

and 13 years respectively.  The average age of the whole class is 13.4 years.  Then the
number of girls in the class is

40 eT+~ u≤\Ts¡T ø=+<äs¡T u≤*ø£\T ø£*–q ̌ ø£ ‘·s¡>∑‹˝À u≤\Ts¡ eT]j·TT u≤*ø£\ dü>∑≥T ej·TdüT\T
es¡Tdü>± 13.5 dü+e‘·‡sê\T eT]j·TT 13 dü+e‘·‡sê\T. yÓTT‘·Ô+ ‘·s¡>∑‹ jÓTTø£ÿ dü>∑≥T ej·TdüT
13.4 dü+e‘·‡sê\T. n|ü⁄&ÉT Ä ‘·s¡>∑‹˝Àì u≤*ø£\ dü+K´
(1) 10 (2) 11 (3) 13 (4) 20

________________________________________________________________________
54. Ratio of present ages of  P and Q are 7:3.  After four years their ages will be in the ratio 2:1.

Then the present age of P (in years) is

P eT]j·TT Q \ Á|üdüTÔ‘· ej·TdüT\ ìwüŒ‹Ô 7:3. Hê\T>∑T dü+e‘·‡sê\ ‘·sê«‘· yê] ej·TdüT\ ìwüŒ‹Ô
2:1 ne⁄‘·T+~. n|ü⁄&ÉT P jÓTTø£ÿ Á|üdüTÔ‘· ej·TdüT (dü+e‘·‡sê\˝À)
(1) 24 (2) 28 (3) 30 (4) 32

________________________________________________________________________
55. The product of two positive numbers A and B is 240.   If twice of B is more than A by 4,

then B is

<Ûäq dü+K´\T A eT]j·TT B \ \ã∆+ 240. B øÏ ¬s{Ïº+|ü⁄ A ø£Hêï 4 m≈£îÿe nsTT‘˚, n|ü⁄&ÉT B
(1) 12 (2) 20 (3) 10 (4) 14

________________________________________________________________________
56. Four persons can reep 12 acres in 10 days by working for 9 hours a day.  The number of

hours in a day that five persons have to work in order to reap 16 acres in 8 days is

q\T>∑Ts¡T e´≈£îÔ\T 12 mø£sê\ |ü+≥qT s√E≈£î 9 >∑+≥\ #=|üq |üì#̊dæ 10 s√E\˝À ø√j·T>∑\s¡T.
◊<äT>∑Ts¡T e´≈£îÔ\T 16 mø£sê\ |ü+≥qT 8 s√E\˝À ø√j·÷\+fÒ s√E≈£î |üì#̊j·÷*‡q >∑+≥\ dü+K´
(1) 12 (2) 10 (3) 9 (4) 8

________________________________________________________________________
57. A  can do a piece of work in 4 hours. B and C together take 3 hours, A and C together take

2 hours to do it. The time taken for B to complete the work is (in hours)

A ̌ ø£ |üìì 4 >∑+≥˝À¢ #˚j·T>∑\&ÉT. B eT]j·TT C ø£*dæ Ä |üìì 3 >∑+≥\˝ÀqT, A eT]j·TT C ø£*dæ
Ä |üìì 2 >∑+≥\˝À #˚j·T>∑\s¡T. Ä |üìì |üP]Ô #˚j·T&ÜìøÏ B rdüTø=H˚ düeTj·T+ (>∑+≥\˝À)
(1) 10 (2) 12 (3) 8 (4) 9
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58. A contractor undertook to finish a certain work in 124 days and employed 120 men on it.

After 64 days, he found that he had already done 
2

3
 of the work.  The number of men he can

discharge now so that the work may finish in time is

ˇø£ >∑T‘Ô̊<ës¡T ˇø£ |üìì 124 s√E˝À¢ |üP]Ô #˚j·T&ÜìøÏ n+^ø£]+∫, n+<äT≈£î>±qT 120 eT+~

e´≈£îÔ\qT |üì˝ÀøÏ rdüT≈£îHêï&ÉT. 64 s√E\ ‘·sê«‘· 
2

3
e e+‘·T |üì |üPs¡ÔsTT+<äì ‘Ó\TdüT≈£îHêï&ÉT.

ìπs›•‘· düeTj·÷ìøÏ |üì |üP]Ô #˚j·TT≥≈£î ‘·–Z+#·e\dæq |üìyê] dü+K´
(1) 24 (2) 56 (3) 64 (4) 80

________________________________________________________________________
59. A and B undertook to do a piece of work for Rs. 4,500.  A alone could do it in 8 days

and B alone in 12 days.  With the assistance of C they finished the work in 4 days.  Then
C’s share of money is (in rupees)
A eT]j·TT B s¡÷. 4,500 ≈£î ˇø£ |üìì #˚j·T&ÜìøÏ ˇ|ü≈£îHêïs¡T. Ä |üìì A e÷Á‘·y˚T 8 s√E\˝À,
B e÷Á‘·y˚T 12 s√E\˝À #˚j·T>∑\s¡T. C jÓTTø£ÿ düVü‰j·T+‘√ yês¡T 4 s√E˝À¢ |üì |üP]Ô #˚kÕs¡T.
n|ü&ÉT &ÉãT“˝À C jÓTTø£ÿ yê{≤ (s¡÷bÕj·T\˝À)
(1) 2,250 (2) 1,500
(3) 750 (4) 375

________________________________________________________________________
60. Seven young men and four boys can complete a work in 6 days.  A young man completes

double the work than a boy in a day.  The number of days that five men and four boys require
to complete the work is
@&ÉT>∑Ts¡T j·TTe≈£î\T, q\T>∑Ts¡T u≤\Ts¡T ø£*dæ ˇø£ |üìì 6 s√E˝À¢ |üP]Ô #˚j·T>∑\s¡T. s√EøÏ
u≤\T&ÉT #˚ùd |üìøÏ ¬s{Ïº+|ü⁄ |üì ˇø£ j·TTe≈£î&ÉT #˚kÕÔ&ÉT. ◊<äT>∑Ts¡T j·TTe≈£î\T, q\T>∑Ts¡T u≤\Ts¡T
Ä |üì |üP]Ô #˚j·T&ÜìøÏ ø±e\dæq s√E\ dü+K´

(1) 5 (2) 4 (3) 6 (4)
54

7
________________________________________________________________________
61. A circular wire of radius 21 cm is cut and bent in the form of a rectangle whose sides are in

the ratio of 6:5. Assuming π = 
22

7
, the area enclosed by the rectangle (in sq. cms) is

yê´kÕs¡úeTT 21 ôd+.MT\T >∑\ ˇø£ eè‘êÔø±s¡ r>∑qT ø£‹Ô]+∫ 6:5 ìwüŒ‹Ô˝À uÛÑTC≤\T >∑\ ˇø£

Bs¡È#·‘·Ts¡Ádü+>± e+#ês¡T. π = 
22

7
 nqT≈£î+fÒ, Ä Bs¡È#·‘·Ts¡Ádü+‘√ |ü]ã<ä∆yÓTÆq yÓ’XÊ\´+

(#·.ôd+.MT \˝À)
(1) 540 (2) 1080 (3) 2160 (4) 4320
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62. A rectangular paper, when folded into two congruent parts had a perimeter of 34 cm for
each part folded along one set of sides and same is 38 cm when folded along the other set
of sides. The area of the paper is (in sq. cms)
ˇø£ Bs¡È#·‘·Ts¡Ádü|ü⁄ ø±–‘êìï ¬s+&ÉT düs¡«düe÷q uÛ≤>±\T>± ˇø£ »‘· uÛÑTC≤\ yÓ’|ü⁄ eT&É∫q|ü&ÉT
ˇø=ÿø£ÿ uÛ≤>∑|ü⁄ #·T≥Tºø=\‘· 34 ôd+.MT\T >±qT, eT]jÓTTø£ »‘· uÛÑTC≤\ yÓ’|ü⁄ eT&ç∫q|ü⁄&ÉT n<˚
38 ôd+.MT\T>±qT ñqï~. Ä ø±–‘·+ yÓ’XÊ\´+ (#·.ôd+.MT.\˝À)
(1) 140 (2) 240
(3) 560 (4) 360

________________________________________________________________________
63. The side and one of the diagonals of a rhombus are 13 cm and 24 cm respectively. Its area

(in sq. cm) is
ˇø£ düeT #·‘·Ts¡T“¤»|ü⁄ uÛÑT»eTT eT]j·TT $ø£s¡íeTT es¡Tdü>± 13 ôd+.MT\T eT]j·TT 24 ôd+.MT.\T.
<ëì yÓ’XÊ\´+ (#·.ôd+.MT.\˝À)
(1) 156 (2) 240 (3) 120 (4) 130

________________________________________________________________________
64. The sides of a triangle are 3 cm, 4 cm and 5 cm. The area (in cm2) of the triangle formed by

joining the mid-points of the sides of this triangle is
ˇø£ Á‹ø√D+ uÛÑTC≤\T 3 ôd+.MT, 4 ôd+.MT eT]j·TT 5 ôd+.MT \T. á Á‹ø√D|ü⁄ uÛÑTC≤\ eT<Ûä́
_+<äTe⁄\qT ø£*|æ‘˚ e#˚Ã Á‹ø√D|ü⁄ yÓ’XÊ\´+ (#·̂ ˆôd+.MT.\˝À)

(1) 6 (2) 3 (3)
3

2
(4)

3

4
________________________________________________________________________
65. Two persons undertake to do a piece of work for Rs. 1,200. One alone could do it in 6 days

and the other in 8 days. With the assistance of a boy they finish it in 3 days. The difference
between the shares of the two persons (in rupees) is
Ç<ä›s¡T e´≈£îÔ\T ˇø£ |üìì s¡÷. 1,200 \≈£î #˚j·T{≤ìøÏ ˇ|ü≈£îHêïs¡T. yê]˝À ˇø£ÿ&˚ $&ç>± <ëìì
6 ~qeTT\˝À #˚j·T>∑*–‘˚, eT]jÓTTø£&ÉT $&ç>± 8 s√E\˝À #˚j·T>∑\&ÉT. ˇø£ ≈£îÁs¡yêì düVü‰j·T+‘√
yês¡T Ä |üìì 3 s√E\˝À |üP]Ô #˚XÊs¡T. n|ü⁄&ÉT Ä Ç<ä›s¡T e´≈£îÔ\ e+‘·T\˝À ‘˚&Ü (s¡÷bÕj·T\˝À)
(1) 150 (2) 200 (3) 250 (4) 300

________________________________________________________________________
66. Two men undertake to do a piece of work for Rs. 5,600. First man alone can do this work in

7 days while the second man alone can do this work in 8 days. If they work together and
complete this work in 3 days with the help of a boy, then the amount the two men together
get is   (in rupees)
Ç<ä›s¡T e´≈£îÔ\T ˇø£ |üìì s¡÷. 5,600 \≈£î #Ój·T´{≤ìøÏ ˇ|ü≈£îHêïs¡T. yÓTT<ä{Ï e´øÏÔ ˇø£ÿ&˚ <ëìì
7 s√E\˝À #Ój·T´>∑*–‘˚, ¬s+&Ée e´øÏÔ ˇø£ÿ&˚ 8 s√E\˝À #Ój·T´>∑\&ÉT. ˇø£ u≤\Tì düVü≤ø±s¡+‘√
yê]<ä›s¡÷ ø£*dæ Ä |üìì 3 s√E\˝À |üP]Ô #Ój·T´>∑*–‘˚, yê]<ä›]ø° ø£*|æ e#˚Ã kıeTTà (s¡÷.\˝À)
(1) 4,000 (2) 4,500
(3) 4,580 (4) 4,600
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67. If the wages of 6 men for 15 days be Rs. 700, then the wages of 9 men for 12 days will be
(in rupees)
15 s√E\≈£î 6 >∑Ts¡T |ü⁄s¡Twüß\ y˚‘·q+ s¡÷. 700 nsTT‘˚, 12 s√E\≈£î 9 eT+~ |ü⁄s¡Twüß\ y˚‘·q+
(s¡÷bÕj·T\˝À)
(1) 840 (2) 848 (3) 1050 (4) 900

________________________________________________________________________
68. 8 men can do a work in 12 days. After 6 days of work, 4 more men were engaged to finish

the work. The number of days required to complete the remaining work is
8 eT+~ |ü⁄s¡Twüß\T ˇø£ |üìì 12 s√E\˝À #Ój·T´>∑\T>∑T‘ês¡T. 6 s√E\ |üì ‘·s¡Tyê‘· Ç+ø=ø£
q\T>∑T]ì ≈£L&Ü Ä |üì |üP]Ô #˚j·T{≤ìøÏ ìj·T$T+#ês¡T. Ä $T–*q |üìì eTT–+#·{≤ìøÏ
nedüs¡eTj˚T´ s√E\ dü+K´
(1) 2 (2) 3 (3) 4 (4) 5

________________________________________________________________________
69. The number of 5-digit even numbers that can be formed using the digits 1, 2, 7, 9, 4 without

repetition is
|ü⁄qsêeè‘·+ ø±≈£î+&Ü 1, 2, 7, 9, 4 n+¬ø\‘√ @s¡Œs¡#·>∑*π> 5 - n+¬ø\ dü]dü+K´\ dü+K´
(1) 16 (2) 36 (3) 24 (4) 48

________________________________________________________________________
70. From a group of 6 men and 4 women a committee of 4 persons is to be formed.   The

number of different ways in which it can be done so that the committee has at least one
women is
6 >∑Ts¡T |ü⁄s¡Twüß\T, 4 >∑Ts¡T Åd”Ô\T ñqï ˇø£ düeT÷Vü≤eTT qT+∫ 4 >∑Ts¡T e´≈£îÔ\Tqï ˇø£ ø£$T{°ì
@s¡Œs¡#ê*. ø£̇ dü+ ˇø£ Åd”Ô nsTTHê ñ+&˚≥T¢ @s¡Œs¡#·>∑*π> ø£$T{°\ dü+K´
(1) 210 (2) 225 (3) 195 (4) 185

________________________________________________________________________

71. To complete a work A takes 6 days and B takes 12 days. After A and B worked for two days,
C joined them and they completed the work on the 3rd day. The number of days C alone
takes to complete the same work is
ˇø£ |üìì |üP]Ô #˚j·T{≤ìøÏ A øÏ 6 s√E\T eT]j·TT B øÏ 12 s√E\T |ü≥Tº‘·T+~. A eT]j·TT B \T
¬s+&ÉT s√E\T |üì#˚dæq ‘·s¡Tyê‘· yê]‘√ C ø£\e>±, yês¡+‘ê eT÷&Ée s√Eq Ä |üìì |üP]Ô #˚XÊs¡T.
n<˚ |üìì |üP]Ô #Ój·T´{≤ìøÏ C ˇø£ÿ]ø° |üfÒº s√E\T
(1) 3 (2) 6 (3) 4 (4) 8

________________________________________________________________________
72. There are five men and four ladies to dine at a round table.  The number of ways they can

seat themselves so that no two ladies are together is
nsTT<äT>∑Ts¡T |ü⁄s¡Twüß\T eT]j·TT q\T>∑Ts¡T Åd”Ô\T ˇø£ >∑T+Á&Éì ã\¢ #·T≥÷º uÛÀ»HêìøÏ ≈£Ls√Ãyê*.
@ Çs¡Te⁄s¡T Åd”Ô\T ø£*dæ ≈£Ls√Ã≈£î+&Ü yês¡T ≈£Ls√Ã>∑*π> |ü<ä∆‘·T\ dü+K´
(1) 3280 (2) 3180 (3) 3080 (4) 2880
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73. A class starts at 9:15 am and lasts till 12:38 pm.  Four periods are held during this interval.
After every period, 5 minutes are given free to the students.  The exact duration of each
period ( in minutes) is
ˇø£ ‘·s¡>∑‹ ñ<äj·T+ 9:15 >∑+ˆˆ yÓTT<ä\sTT eT<Ûë´Vü≤ï+ 12:38 >∑+ˆˆ es¡≈£L kÕ>∑T‘·T+~. á eT<Ûä́ ø±\+˝À
yê]øÏ 4 |”]j·T&é\T »s¡T>∑T‘êsTT. ˇø=ÿø£ÿ |”]j·T&é ‘·s¡Tyê‘· $<ë´s¡Tú\≈£î 5 ìeTTcÕ\ $sêeT+
ñ+≥T+~. ˇø=ÿø£ÿ |”]j·T&é jÓTTø£ÿ ì]∆wü̃ düeTj·T+ (ì$TcÕ\˝À)
(1) 51 (2) 50 (3) 48 (4) 47

________________________________________________________________________

74. Two trains of lengths 200 m and 180 m run on parallel tracks.  When running in the same
direction the faster train crosses the slower one in 38 sec.  When running in opposite
directions at the speeds same as their earlier speeds, they pass each other completely in
5 sec.  The speed of the faster train is  (in m/sec.)
200 MTˆˆ\T eT]j·TT 180 MTˆˆ\ bı&Ée⁄qï ¬s+&ÉT ¬s’fi¯ófl ¬s+&ÉT düe÷+‘·s¡ |ü{≤º\ô|’ |ü]¬>&ÉT‘·THêïsTT.
n$ ˇπø ~X¯˝À yÓfi¯óÔqï|ü&ÉT yê{Ï˝À m≈£îÿe y˚>∑+‘√ yÓfi‚fl ¬s’\T ‘·≈£îÿe y˚>∑+‘√ yÓfi‚fl <ëìì
38 ôdø£qT\˝À <ë≥T‘·T+~. ny˚ y˚>±\‘√ m<äT¬s<äTs¡T ~X¯\˝À yÓfi‚Ô, n$ ˇø£ <ëìH=ø£{Ï |üP]Ô>±
5 ôdø£qT\˝À <ë≥T‘êsTT. yêì˝À m≈£îÿe y˚>∑+‘√ q&ç#˚ ¬s’\T y˚>∑+ (MT/ôdø£qT\˝À)
(1) 43 (2) 45 (3) 50 (4) 60

________________________________________________________________________

75. A train 135 m long is running with a speed of 50 km/hr.  The time taken by it to pass a man
who is walking at 4 km/hr in the opposite direction (in seconds) is
135 MT≥s¡¢ bı&Ée⁄qï ˇø£ ¬s’\T >∑+≥≈£î 50 øÏ.MT\ y˚>∑+‘√ q&ÉTk Ǫ̂+~. <ëìøÏ n_ÛeTTK+>± >∑+≥≈£î
4 øÏ.MT\ y˚>∑+‘√ q&ç#˚ ˇø£ e´øÏÔì <ë≥{≤ìøÏ n~ rdüT≈£îH˚ düeTj·T+ (ôdø£qT\˝À)
(1) 10 (2) 9 (3) 11 (4) 8

________________________________________________________________________

76. The distance between P and Q is 27 kms. Two men A and B walk from P to Q at rates 4 and
5 km an hour, respectively. B reaches Q and returns immediately and meets A at R. The
distance from P to R is (in kms)
P eT]j·TT Q \ eT<Ûä́  <ä÷s¡+ 27 øÏ.MT.\T. A eT]j·TT B nqT Ç<ä›s¡T e´≈£îÔ\T P qT+&ç Q øÏ >∑+≥≈£î
es¡Tdü>± 4 eT]j·TT 5 øÏ.MT\ #=|üq q&ç#ês¡T. Q øÏ #˚]q B yÓ+≥H˚ ‹]– ãj·T\T<˚] A ì R e<ä›
ø£*XÊ&ÉT. P qT+&ç R øÏ ñqï <ä÷s¡+ (øÏ.MT.\˝À)
(1) 20 (2) 21 (3) 23 (4) 24

________________________________________________________________________

77. A train passes a telegraph post in 8 sec. and a 264 m long bridge in 20 sec. Then the length
of the train is (in mts.)
ˇø£ ¬s’\T ˇø£ f…*Á>±|òü⁄ düÔ+uÛ≤ìï 8 ôdø£qT\˝ÀqT, 264 MTˆˆ\ bı&Ée⁄qï e+‘ÓqqT 20 ôdø£qT\˝ÀqT
<ë≥>∑\<äT. n|ü⁄&ÉT Ä ¬s’\T bı&Ée⁄ (MT≥s¡¢̋ À)
(1) 180 (2) 176 (3) 164 (4) 158
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78. A can go round a circular path 8 times in 40 min. If the diameter of the circle is increased
to 10 times, the time required by A to go round the new path once, travelling at the same
speed as before is (in mins)

A ˇø£ eè‘êÔø±s¡|ü⁄ <ë] #·T≥÷º 40 ì$TcÕ\˝À 8 kÕs¡T¢ yÓfi¯fl>∑\&ÉT. Ä eè‘·Ô|ü⁄ yê´kÕìï 10 ¬s≥T¢
ô|+∫‘˚, eTTqT|ü{Ï y˚>∑+‘√H˚ yÓ[flq|ü⁄&ÉT, Ä ø=‘·Ô<ë] #·T≥÷º ˇø£kÕ] ‹s¡>∑{≤ìøÏ A øÏ |üfÒº düeTj·T+
(ì$TcÕ\˝À)
(1) 25 (2) 20 (3) 50 (4) 100

________________________________________________________________________

79. A man is watching from the top of a tower, a boat speeding away from the tower. The boat
makes an angle of depression of 45° with the man’s eye when it is at a distance of 60 m
from the tower. After 5 sec, the angle of depression becomes 30°. The approximate speed

of the boat, assuming it is running in still water (in kmph) (Take 3  = 1.732)

ˇø£ e´øÏÔ ˇø£ >√|ü⁄s¡+ ô|’ qT+&ç ˇø£ Hêe yÓ[flb˛e≥+ #·÷XÊ&ÉT. Ä Hêe >√|ü⁄sêìøÏ 60 MT.\
<ä÷s¡+˝À qTqï|ü&ÉT Ä e´øÏÔ ø£+{Ï e<ä› 45° ìeTïø√D+ #˚k Ǫ̂+~. 5 ôdø£qT\ ‘·s¡Tyê‘· <ëì ìeTï

ø√D+ 30° nsTT+~. Hêe ìX¯Ã\ »\+˝À yÓfi¯óÔqï<äqTø=+≥÷, 3  = 1.732 >± rdüT≈£î+fÒ, <ë<ë|ü⁄>±
<ëì y˚>∑+ (>∑+≥≈£î øÏ.MT.\˝À)
(1) 31.62 (2) 36
(3) 37.26 (4) 40

________________________________________________________________________

80. If  12 + 22 + 32 + ... + x2 = 
( 1) (2 1)

6

x x x+ +
, then 12 + 32 + 52 + ... + 192 =

12 + 22 + 32 + ... + x2 = 
( 1) (2 1)

6

x x x+ +
 nsTT‘˚ 12 + 32 + 52 + ... + 192 =

(1) 1330 (2) 2100
(3) 2485 (4) 2500

________________________________________________________________________

81. The sum of the series 2 3 4

2 3 2 3
....

5 5 5 5
+ + + + ∞  is

ÁX‚DÏ 2 3 4

2 3 2 3
....

5 5 5 5
+ + + + ∞  jÓTTø£ÿ yÓTT‘·Ô+

(1)
17

24
(2)

15

24
(3)

13

24
(4)

11

24
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82. If a body falls 16 m in the 1st second of its motion, 48 m in the 2nd, 80 m in the 3rd,
112 m in the 4th and so on, then the distance it fall during the 11th second of its motion
is (in meters)

ˇø£ edüTÔe⁄ <ëì >∑eTq+˝À yÓTT<ä{Ï ôdø£qT˝À 16 MT≥s¡T¢, ¬s+&Ée ôdø£qT˝À 48 MT≥s¡T¢, eT÷&Ée
ôdø£qT˝À 80 MT≥s¡T¢, Hê\T>∑e ôdø£qT˝À 112 MT≥s¡¢ #=|üq |ü&ÉT‘·÷ ñ+fÒ <ëì >∑eTq+˝Àì
11 e ôdø£qT˝À n~ |ü&˚ <ä÷s¡+ (MT≥s¡¢̋ À)
(1) 338 (2) 340 (3) 334 (4) 336

________________________________________________________________________

83. If it was a Sunday on Jan 1, 2006. The day of the week on Jan 1, 2010 is
(1) Sunday (2) Saturday
(3) Friday (4) Wednesday
»qe] 1, 2006 q Ä~yês¡eTsTT‘˚ »qe] 1, 2010 q yês¡+˝Àì s√E
(1) Ä~yês¡+ (2) X¯ìyês¡+
(3) X¯óÁø£yês¡+ (4) ãT<Ûäyês¡+

________________________________________________________________________

84. The dates of April 2001 on which Wednesdays fall are

2001 @Á|æ̋ Ÿ̋ À ãT<Ûäyêsê\T e#˚Ã ‘˚B\T
(1) 1, 8, 15, 22, 29 (2) 2, 9, 16, 23, 30
(3) 3, 10, 17, 24 (4) 4, 11, 18, 25

________________________________________________________________________

85. The calender for the year 2007 will be the same as for the year

2007 e dü+e‘·‡s¡|ü⁄ ø±´\+&És¡T≈£î düeT+>± ø±´\+&ÉsY ñ+&˚ dü+e‘·‡s¡+
(1) 2014 (2) 2016 (3) 2017 (4) 2018

________________________________________________________________________

86. Which of the following is not a leap year?

á ÁøÏ+~ yêì˝À ©|ü⁄ dü+e‘·‡s¡+ ø±ì~ @~?
(1) 700 (2) 800 (3) 1600 (4) 2000

________________________________________________________________________

87. How many times do the two hands of the clock coincide in a day?

ˇø£ s√E˝À mìïkÕs¡T¢ >∑&çj·÷s¡|ü⁄ ¬s+&ÉT eTTfi¯ófl @ø°uÛÑ$kÕÔsTT?
(1) 22 (2) 24 (3) 20 (4) 21

________________________________________________________________________

88. The time a watch loses per day, if its two hands coincide every 64 minutes (in mins.) is

ˇø£ #˚‹ >∑&çj·÷s¡|ü⁄ ¬s+&ÉT eTTfi¯ófl Á|ü‹ 64 ì$TcÕ\≈£î @ø°uÛÑ$ùdÔ, Ä >∑&çj·÷s¡+ s√E˝À ø√˝ÀŒj˚T
düeTj·T+ (ì$TcÕ\˝À)

(1) 96 (2) 80 (3) 38
5

11
(4) 32

8

11
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89. The time between 7 and 8 O’ clock when the two hands of a clock will be in the same

straight line but not together is

(1) 5 min past 7 (2) 5
2

11
 min past 7

(3) 5
3

11
 min past 7 (4) 5

5

11
 min past 7

7 eT]j·TT 8 >∑+≥\ eT<Ûä́  ˇø£ >∑&çj·÷s¡|ü⁄ ¬s+&ÉT eTTfi¯ófl @ø°uÛÑ$+#·≥+ ø±≈£î+&Ü π̌ø düs¡fiπ̄sK˝À
ñ+&˚ düeTj·T+

(1) 7 >∑+≥\T <ë{Ï 5 ì$TcÕ\T (2) 7 >∑+≥\T <ë{Ï 5
2

11
 ì$TcÕ\T

(3) 7 >∑+≥\T <ë{Ï 5
3

11
 ì$TcÕ\T (4) 7 >∑+≥\T <ë{Ï 5

5

11
 ì$TcÕ\T

________________________________________________________________________

90. The angle between the two hands of a clock when the time is 8:30 is

düeTj·T+ 8:30 nsTTq|ü&ÉT >∑&çj·÷s¡+˝Àì ¬s+&ÉT eTTfi¯fl eT<Ûä́  ø√D+
(1) 80° (2) 75° (3) 60° (4) 105°

________________________________________________________________________

91. A starts business with Rs. 3,500 and after 5 months, B joins A with some capital. After
a year, if the profit is divided in the ratio 2:3. Then B’s contribution in the total capital is
(in rupees)
ˇø£ yê´bÕsêìï A s¡÷. 3,500 ‘√ ÁbÕs¡+_ÛùdÔ, 5 HÓ\\ ‘·s¡Tyê‘· B ø=+‘· ô|≥Tºã&ç‘√ A ‘√ #˚sê&ÉT. ̌ ø£
dü+e‘·‡s¡+ ‘·s¡Tyê‘· ˝≤uÛÑ+ 2:3 ìwüŒ‹Ô˝À uÛ≤–+|üã&ç‘˚, n|ü⁄&ÉT yÓTT‘·Ô+ ô|≥Tºã&ç˝À B e+‘·T
(s¡÷bÕj·T\˝À)
(1) 9,000 (2) 7,000 (3) 5,000 (4) 4,000

________________________________________________________________________

92. A, B and C invested Rs. 8,000, Rs. 4,000 and Rs. 8,000 respectively in a business. A left it
after six months and at the end of eighth month, there was a gain of Rs. 4,005. Then the
share of B in it is (in rupees)
A, B eT]j·TT C \T ˇø£ yê´bÕs¡+˝À es¡Tdü>± s¡÷. 8,000, s¡÷. 4,000 eT]j·TT s¡÷. 8,000
ô|≥Tºã&ç ô|{≤ºs¡T. Äs¡T HÓ\\ ‘·s¡Tyê‘· A <ëì qT+&ç ãj·T≥≈£î sê>± mì$T<√ HÓ\ ∫es¡
s¡÷. 4,005 \ ˝≤uÛÑ+ e∫Ã+~. <ëì˝À B e+‘·T (s¡÷bÕj·T\˝À)
(1) 690 (2) 790 (3) 890 (4) 990

________________________________________________________________________

93. In business, A and C invested amounts in the ratio 2:1, whereas the ratio between
amounts invested by A and B was 3:2. If Rs. 1,57,300 was their profit, the share of B in it
(in rupees) is
ˇø£ yê´bÕs¡+˝À A eT]j·TT C \T 2:1 ìwüŒ‹Ô̋ À ô|≥Tºã&çô|&ç‘˚ A eT]j·TT B \ ô|≥Tºã&ÉT\ ìwüŒ‹Ô
3:2. yê]øÏ e∫Ãq ˝≤uÛÑ+ s¡÷. 1,57,300 nsTT‘˚ n+<äT˝À B yê{≤ (s¡÷bÕj·T\˝À)
(1) 48,000 (2) 47,000 (3) 48,400 (4) 47,400
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94. A and B are partners in a business. A contributes 
1

4
 of the capital for 15 months and

B received 
1

4
 of the profit. The time that B’s money was used is

(1) 1 year (2) 9 months (3) 6 months (4) 10 months

A eT]j·TT B ̌ ø£ yê´bÕs¡+˝À uÛ≤>∑kÕ«eTT\T. eT÷\<Ûäq+˝À 
1

4
 e+‘·T 15 HÓ\\≈£î A Ç#êÃ&ÉT, yê]

˝≤uÛÑ+˝À 
1

4
 e e+‘·T B øÏ e∫Ã+~. B jÓTTø£ÿ kıeTTà ñ|üjÓ÷–+∫q düeTj·T+

(1) 1 dü+e‘·‡s¡+ (2) 9 HÓ\\T (3) 6 HÓ\\T (4) 10 HÓ\\T
________________________________________________________________________

95. The number of bricks, each measuring 25 cm × 15 cm × 8 cm required to construct a wall
of dimensions 10 m × 4 m × 5 m when 10% of its volume is occupied by mortar is

10 MT. × 4 MT. × 5 MT. \ |ü]e÷D≤\T >∑\ ̌ ø£ >√&É ìsêàD+˝À 10% ã{°º düTqï+‘√ ì+&ç‘˚, <ëìì
ø£≥º&ÜìøÏ ø±e\dæq 25 ôd+.MT. × 15 ôd+.MT. × 8 ôd+.MT. \ |ü]e÷D≤\T >∑\ Ç≥Tø£\ dü+K´
(1) 40,000 (2) 80,000
(3) 70,000 (4) 60,000

________________________________________________________________________

96. The radii of two cylinders are in the ratio 3:4 and their heights are in the ratio 5:2. The ratio
of their volume is

¬s+&ÉT dü÷úbÕ\ yê´kÕsêú\T 3:4 ìwüŒ‹Ô˝Àq÷, yê{Ï m‘·TÔ\T 5:2 ìwüŒ‹Ô˝Àq÷ ñHêïsTT. yê{Ï
|òüTq|ü]e÷D≤\ ìwüŒ‹Ô
(1) 45 : 32 (2) 27 : 20 (3) 35 : 32 (4) 32 : 45

________________________________________________________________________

97. If base radii of a cone is increased by 30% and its slant height is made double, then the
percentage increase in the curved surface area is

ˇø£ X̄+≈£îe⁄ uÛÑ÷ yê´kÕsêúìï 30% ô|+∫, <ëì yê\T m‘·TÔqT ¬s+&ç+‘·\T #̊ùdÔ <ëì eÁø£‘·\ yÓ’XÊ\´+˝Àì
ô|+|ü⁄ XÊ‘·+
(1) 140 (2) 150 (3) 160 (4) 170

________________________________________________________________________

98. A hemisphere and a cone have equal bases. If their heights are also equal, the ratio of the
areas of their curved surfaces will be

ˇø£ ns¡∆>√fi¯+, X¯+≈£îe⁄ Ä<Ûësê\T düe÷q+. yê{Ï m‘·TÔ\T ≈£L&Ü düe÷qeTsTT‘˚, yê{Ï eÁø£‘·\
yÓ’XÊ˝≤´\ ìwüŒ‹Ô

(1) 1 : 2 (2) 2  : 1 (3) 1 : 2 (4) 2 : 1
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99. The height of a conical tent is 14 feet and the radius of its base is 6 feet. If  12 persons
sleep in this tent, the average cubic feet of air available to each person (in cubic feet) is
X¯+≈£îe⁄ Äø±s¡+˝À ñqï ˇø£ >∑T&Üs¡|ü⁄ m‘·TÔ 14 n&ÉT>∑T\T eT]j·TT <ëì uÛÑ÷yê´kÕs¡∆+ 6 n&ÉT>∑T\T.
Ä >∑T&Üs¡+˝À 12 eT+~ e´≈£îÔ\T ìÁ<äb˛‘·T+fÒ, ˇø=ÿø£ÿ]øÏ n+<˚ dü>∑≥T >±* |òüTq|ü]e÷D+
(|òüTq n&ÉT>∑T\˝À)
(1) 30 (2) 33 (3) 36 (4) 44

________________________________________________________________________

100. The metallic solid cone is melted and converted into the shape of solid cylinder of equal
radius. If the height of the cylinder is 6 m, the height of the cone is (in mts)
ˇø£ ˝ÀVü≤|ü⁄ |òüTq X¯+≈£îe⁄qT ø£]–+∫ n<˚ yê´kÕs¡ú+ >∑\ ˇø£ |òüTq dü÷ú|ü Äø±s¡+>± e÷sêÃs¡T. Ä
dü÷ú|ü+ m‘·TÔ 6 MTˆˆ nsTT‘˚, Ä X¯+≈£îe⁄ m‘·TÔ (MT≥s¡¢̋ À)
(1) 15 (2) 16 (3) 17 (4) 18

________________________________________________________________________

101. The missing term in the sequence 1, 3, 3, 6, 7, 9, __, 12, 21 is

nqTÁø£eT+ 1, 3, 3, 6, 7, 9, __, 12, 21 ˝À ˝À|æ+∫q |ü<ä+
(1) 10 (2) 11 (3) 12 (4) 13

________________________________________________________________________

102. The term that comes next in the arrangement of letters given below is.

ÁøÏ+<ä Ç∫Ãq nø£ås¡ neT]ø£̋ À ‘·sê«‘· e#˚Ã |ü<ä+
YEB, WFD, UHG, SKI, __________ is
(1) QGL (2) QOL

(3) TOL (4) QNL
________________________________________________________________________

103. The missing term in the following sequence is

ÁøÏ+~ nqTÁø£eT+˝À ˝À|æ+∫q |ü<ä+
4, 9, 25, __, 121, 169, 289, 361

(1) 49 (2) 64 (3) 81 (4) 87
________________________________________________________________________

104. The 21st term in the sequence 3, 9, 15, 21, ... is

nqTÁø£eT+ 3, 9, 15, 21, ... ˝À 21 e |ü<ä+
(1) 117 (2) 123 (3) 121 (4) 119

________________________________________________________________________

105. Which term of the sequence 5, 10, 20, 40, ... is 1280?
(1) Eighth term (2) Ninth term
(3) Tenth term (4) Seventh term
nqTÁø£eT+ 5, 10, 20, 40, ... ˝À 1280 mH√ï |ü<ä+?
(1) mì$T<äe |ü<ä+ (2) ‘=$Tà<äe |ü<ä+
(3) |ü<äe |ü<ä+ (4) @&Ée |ü<ä+
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106. 7528 is related to 5306, in the same way as 4673 is related to _________

7528 nH˚ dü+K´≈£î 5306 dü+ã+~Û+∫q Ø‹˝À 4673 ≈£î dü+ã+~Û+∫q dü+K´ _________
(1) 2367 (2) 2451

(3) 2531 (4) 2641
________________________________________________________________________

107. 25 : 125 : : 49 : ______
(1) 206 (2) 180

(3) 216 (4) 343
________________________________________________________________________

108. ‘BELOW’ is related to ‘OBWEL’ in a certain way. The pair among the following having
same relationship is

‘BELOW’ øÏ ‘OBWEL’ ˇø£ |ü<ä∆‹˝À dü+ã+~Û+∫q~. øÏ+~ yêì˝À n<˚ dü+ã+<Ûä+ ø£*Zq »+≥
(1) REPLY : LRYPE (2) ALONG : NAOLG
(3) DRAFT : FDTRA (4) YEARS : RESYA

________________________________________________________________________

109. The pair among the following that has the same relationship as OFTEN : FOTNE is

øÏ+~ yêì˝À, OFTEN : FOTNE øÏ >∑\ dü+ã+<ÛëH˚ï ø£*Z ñqï »+≥.
(1) HEART : TRAHE (2) RISKY : IRSYK
(3) OPENS : SNEOP (4) LUNGS : UNLGS

________________________________________________________________________

110. The pair among the following that has the same relationship as that of  ROCK : CROK?

ÁøÏ+~ yêì˝À ROCK : CROK ˝À >∑\ dü+ã+<ÛëH˚ï ø£*Zq »+≥
(1) BALE : ELAB (2) MIND : DINM
(3) MEAN : AEMN (4) HAND : NHAD

________________________________________________________________________

111. 34 : 12 : : 59 : __________

(1) 14 (2) 47 (3) 38 (4) 45
________________________________________________________________________

112. If  PAPER is coded as QCSIW then in that code EXAMPLE is written as

ˇø£ ø√&é̋ À PAPER ì QCSIW nì sêùdÔ n<˚ ø√&é̋ À EXAMPLE ì sêùd $<Ûä+
(1) FZDUQRL (2) FZQDURL

(3) FZDQURL (4) FZQUDRL
________________________________________________________________________

113. If LARSEQ  is the code word for MASTER, then the code word STEAM is

LARSEQ nH˚~ MASTER øÏ ø√&é |ü<äyÓTÆ‘˚, STEAM øÏ ø√&é |ü<ä+
(1) RSEAL (2) SREAL
(3) SREAM (4) SRAEL
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114. Precaution : Accident : : __________ : Diseases
(1) Doctor (2) Patient
(3) Sanitation (4) Medicine

eTT+<äT C≤Á>∑‘·Ô : Á|üe÷<ä+ : : __________ : s√>±\T
(1) yÓ’<äT´&ÉT (2) s√–
(3) X¯óÁuÛÑ‘· (4) eT+<äT

________________________________________________________________________

115. MP : HK : : WZ :_________

(1) QS (2) PS (3) RU (4) RV
________________________________________________________________________

116. If  AIRTEL is coded as CKTVGN then RELIANCE is coded as

AIRTEL ì CKTVGN >± ø√&é #˚j·Tã&çq#√, RELIANCE øÏ ø√&é |ü<ä+
(1) TGKNCPEG (2) TGNKCPEG
(3) TGNKPCEG (4) TGNKCPGE

________________________________________________________________________

117. If CAR, TIN and BOAT are coded as 364, 182 and 7561 respectively, then CONTRACTOR
is coded as

CAR, TIN, BOAT \qT es¡dü>± 364, 182, 7561 >± ø√&é #˚ùdÔ, CONTRACTOR øÏ ø√&é
(1) 3521643154 (2) 3521463154
(3) 3524163154 (4) 3521634154

________________________________________________________________________

118. The odd thing out of  338, 158, 639, 543, 449 is

338, 158, 639, 543, 449 \˝À dü]b˛\ì~
(1) 449 (2) 639 (3) 543 (4) 158

________________________________________________________________________

119. In the letter-number sequence ZG 13, ______, VM 17, TP 19 the correct letter-number
that fills the blank is

nø£ås¡ dü+K´ nqTÁø£eT+ ZG 13, ______, VM 17, TP 19 ˝À U≤∞˝À ñ+&Ée\dæq dü]jÓÆTq nø£ås¡
dü+K´
(1) XJ 15 (2) YI 17

(3) YI 15 (4) RS 15
________________________________________________________________________

120. The next term in the sequence of letter arrangements is
AD, FC, HK, MJ, ________

nø£ås¡ neT]ø£\ nqTÁø£eT+ AD, FC, HK, MJ, ________ ˝À ‘·sê«‹ |ü<ä+
(1) NQ (2) OQ (3) MP (4) OR
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121. A woman going with a boy is asked by another woman about the relationship between them.
The woman replied, “My maternal uncle and the uncle of his maternal uncle is the same”.
The relationship between the lady and boy is
(1) Meternal Grandmother and Grandson (2) Mother and Son
(3) Aunt and Nephew (4) Paternal Grandmother and Grandson
ˇø£ u≤\Tì‘√ yÓfi¯óÔqï ˇø£ Åd”Ôì eTs√ Åd”Ô yê] eT<Ûä́  ã+<ÛäT‘·«+ @eTì n&ç–+~. yÓTT<ä{Ï Åd”Ô ªªHê
y˚Tqe÷eT, Ä u≤\Tì y˚Tqe÷eT≈£î y˚Tqe÷eT ˇø£πsμμ nì düe÷<Ûëq+ Ç∫Ã+~. Ä Åd”ÔøÏ, u≤\TìøÏ
>∑\ ã+<ÛäT‘·«+
(1) neTàeTà, eTqeT&ÉT (2) ‘·*¢, ø=&ÉT≈£î
(3) n‘·Ô, eTq\T¢&ÉT (4) HêqeTà, eTqeT&ÉT

________________________________________________________________________

122. Pointing to G a person D said, “His only brother is the father of my daughter’s father”. Then
G is related to D as
(1) Grandfather (2) Father
(3) Brother-in-law (4) Paternal Uncle
G ì #·÷|ü⁄‘·÷ ˇø£ e´øÏÔ D ªªÄj·Tq jÓTTø£ÿ π̌ø ˇø£ k˛<äs¡T&ÉT Hê ≈£L‘·Ts¡T ‘·+Á&çøÏ ‘·+Á&çμμ nì
#ÓbÕŒ&ÉT. n|ü&ÉT D øÏ G ‘√ ã+<ÛäT‘·«+
(1) ‘ê‘· (2) ‘·+Á&ç (3) u≤e (4) u≤u≤sTT

________________________________________________________________________

123. Examine the following relationships among members of a family of six persons - A, B, C,
D, E and F
(i) The number of males equals to that of the females
(ii) A and E are sons of  F
(iii) D is the mother of two, one boy and one girl
(iv) B is the son of A
(v) There is one married couple in the family at present
An inference that can be drawn from the above information is
(1) A, B and C are all females (2) A is the husband of D
(3) D is the grand daughter of  F (4) E and F are children of  D
Äs¡T>∑Ts¡T e´≈£îÔ\T A, B, C, D, E, F \T >∑\ ˇø£ ≈£î≥T+ã düuÛÑT´˝À¢ ÁøÏ+~ dü+ã+<Ûë\THêïsTT.
(i) ≈£î≥T+ã+˝À Ä&Éyê] dü+K´ eT>∑yê] dü+K´≈£î düe÷q+
(ii) A, E \T F ≈£î ≈£îe÷s¡T\T
(iii) ˇø£ u≤\T&ÉT, ˇø£ u≤*ø£\ Ç<ä›]ø° ‘·*¢ D
(iv) A øÏ B ≈£îe÷s¡T&ÉT
(v) Á|üdüTÔ‘êìøÏ ≈£î≥T+ã+˝À ˇø£ yÓ’yêVæ≤ø£ »+≥ ñ+~
ô|’ düe÷#ês¡+ qT+∫ sêã≥º>∑\ ˇø£ ìsê∆s¡D
(1) A, B, C \T n+<äs¡÷ Ä&Éyêπs (2) D øÏ A uÛÑs¡Ô
(3) F øÏ D eTqTeTsê\T (4) E, F \T D dü+‘êq+
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124. One among 17, 19, 23, 27 and 29 is different from the other four. The one which is
different is

17, 19, 23, 27, 29 \˝À ˇø£{Ï $T–*q Hê*Z+{Ï‘√ $uÛÒ~düTÔ+~. M{Ï̋ À Ä $uÛÒ~+#˚~
(1) 17 (2) 19 (3) 27 (4) 29

________________________________________________________________________

125. K is the brother of N and X. Y is the mother of N and Z is the father of K. The statements
among the following that is not definitely true is
(1) K is the son of Z (2) Y is the wife of Z
(3) K is the son of Y (4) N is the brother of X

N, X \≈£î K k˛<äs¡T&ÉT, N øÏ Y ‘·*¢, K øÏ Z ‘·+Á&ç. ÁøÏ+~ Á|üe#·Hê˝À¢ K∫Ã‘·+>± ì»+ ø±ì~
(1) Z øÏ K ≈£îe÷s¡T&ÉT (2) Z øÏ Y uÛ≤s¡́
(3) Y øÏ K ≈£îe÷s¡T&ÉT (4) X øÏ N k˛<äs¡T&ÉT

________________________________________________________________________

126. Anthropology : Man : : Anthology : _________?

(1) Nature (2) Trees (3) Apes (4) Poems

e÷qe |ü]D≤eT XÊg+ : e÷qe⁄&ÉT : : j·÷+‘ê\J : ________ ?

(1) Á|üø£è‹ (2) #Ó≥T¢ (3) yêqsê\T (4) |ü<ë´\T
________________________________________________________________________

127. A man stands facing West. He turns 45° in the clockwise direction and then another 180° in
the same direction and then 270° in the anticlockwise direction. The direction he is facing
now is
(1) South (2) North-West (3) West (4) South-West
ˇø£‘·qT |ü&ÉeTs¡ ~≈£îÿ≈£î n_ÛeTTK+>± ì\ã&ç ñHêï&ÉT. n‘·qT Á|ü<äøÏåD ~X̄˝À 45° ‹]–, ‘·sê«‘· n<̊
~X̄˝À 180° ‹]–, Äô|’ nÁ|ü<äøÏåD ~X̄˝À 270° ‹]>±&ÉT. Ç|ü&ÉT n‘·ìøÏ n_ÛeTTK+>± ñqï ~X̄
(1) <äøÏåD+ (2) yêj·TTe´+ (3) |ü&ÉeTs¡ (4) HÓ’s¡T‹

________________________________________________________________________

128. A man walks in the directions given below:
(i) 50 m to East (ii) then 50 m to South
(iii) and then 120 m to West (iv) later 25 m to North
(v) and finally 70 m to East
Then the distance (in meters) between the starting point and the last point is
ˇø£ e´øÏÔ ÁøÏ+<ä ìe«ã&çq ~X¯\˝À q&ÉTdüTÔHêï&ÉT.
(i) 50 MT. ‘·÷s¡TŒ yÓ’|ü⁄ (ii) ‘·s¡Tyê‘· 50 MT. <äøÏåD+ yÓ’|ü⁄
(iii) Äô|’ 120 MT. |ü&ÉeTs¡ yÓ’|ü⁄ (iv) ‘·<äT|ü] 25 MT. ñ‘·Ôs¡+ yÓ’|ü⁄
(v) ∫es¡>± 70 MT. ‘·÷s¡TŒ yÓ’|ü⁄
n|ü⁄&ÉT yÓTT<ä{Ï _+<äTe⁄ qT+&ç ∫e] _+<äTe⁄≈£î >∑\ <ä÷s¡+ (MT≥s¡¢̋ À)
(1) 25 (2) 30 (3) 40 (4) 50
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129. Rohan walked 40 metres towards North, took a left turn and walked 20 metres. He again
took a left turn and walked 40 metres. The distance and the direction in which he is from
the starting point is

(1) 20 metres East (2) 20 metres North

(3) 20 metres West (4) 100 metres South

s√Vü≤Hé ñ‘·Ôs¡ ~X¯>± 40 MT≥s¡T¢ yÓ[fl, m&ÉeTyÓ’|ü⁄ ‹]– 20 MT≥s¡T¢ q&ç#ê&ÉT. Ä ‘·sê«‘· eT∞fl
m&ÉeTyÓ’|ü⁄≈£î ‹]– 40 MT≥s¡T¢ q&ç#ê&ÉT. n‘·qT ãj·T\T<˚]q _+<äTe⁄ qT+&ç <ä÷s¡+, ~X¯\T
es¡Tdü>±
(1) 20 MT≥s¡T¢, ‘·÷s¡TŒ (2) 20 MT≥s¡T¢, ñ‘·Ôs¡+
(3) 20 MT≥s¡T¢, |ü&ÉeTs¡ (4) 100 MT≥s¡T¢, <äøÏåD+

________________________________________________________________________

130. Amit walked 30 metres towards East, took a right turn and walked 40 metres. Then he took
a left turn and walked 30 metres. The direction in which he is now with respect to the
starting point is

(1) North-East (2) East

(3) South-East (4) South

n$T‘Y ‘·÷s¡TŒ ~X¯>± 30 MT≥s¡T¢ q&ç∫, ≈£î&çyÓ’|ü⁄ ‹]– 40 MT≥s¡T¢ q&ç#ê&ÉT. Ä ‘·sê«‘· m&ÉeTyÓ’|ü⁄≈£î
‹]– 30 MT≥s¡T¢ q&ç#ê&ÉT. n‘·qT ãj·T\T<˚]q _+<äTe⁄ <äècÕº́  Ç|ü&ÉT ñqï ~X¯
(1) áXÊq´+ (2) ‘·÷s¡TŒ
(3) Äπ>ïj·T+ (4) <äøÏåD+

________________________________________________________________________

131. A, B, C, D, E, F, G and H are sitting around a round table in the same order, for group
discussion at equal distances. Their positions are clockwise. If G sits in the North, then
D sits in the direction

(1) East (2) South-East

(3) South (4) South-West

ˇø£ #·s¡Ã¬ø’ A, B, C, D, E, F, G, H \T n<˚ Áø£eT+˝À ˇø£ >∑T+Á&É{Ï ã\¢ #·T≥÷º düeT<ä÷s¡+˝À
≈£Ls¡TÃHêïs¡T. yê] kÕúHê\T düe´ ~X¯̋ À ñHêïsTT. G ñ‘·Ôs¡|ü⁄ yÓ’|ü⁄ ≈£Ls¡TÃ+fÒ n|ü&ÉT D ≈£Ls¡TÃqï ~X¯
(1) ‘·÷s¡TŒ (2) Äπ>ïj·T+
(3) <äøÏåD+ (4) HÓ’s¡T‹
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132. In a dinner party both fish and meat were served. Some took only fish and some only meat.
There were some vegetarians who did not accept either. The rest accepted both fish and
meat. The correct diagrams that reflects this situation is

ˇø£ $+<äT˝À #˚|ü\T, e÷+dü+ e&ç¶+#ês¡T. ø=+<äs¡T #˚|ü\T e÷Á‘·y˚T ‹q>±, eT]ø=+<äs¡T e÷+dü+
e÷Á‘·y˚T ‹+{≤s¡T. n+‘˚>±ø£ á ¬s+&ç+{Ï̇  n+^ø£]+#·ì XÊU≤Vü‰s¡T\÷ ø=+<äs¡THêïs¡T. $T–*qyês¡T
¬s+&ç+{Ï̇  ‹+{≤s¡T. á |ü]dæú‹ì Á|ü‹_+_+#˚ dü]jÓÆTq ∫Á‘·s¡÷|ü+

(1) (2)

(3) (4)

________________________________________________________________________

133. Some of the cricket players are tennis players, some tennis players are hockey players and
no cricket player is a hockey player.
The diagrams that correctly represent the above statements is

ø=+<äs¡T ÁøÏ¬ø{Ÿ Ä≥>±fi¯ófl f…ìïdt Ä≥>±fi¯ófl, ø=+<äs¡T f…ìïdt Ä≥>±fi¯ófl Vü‰ø° Ä≥>±fi¯ófl, @ ÁøÏ¬ø{Ÿ
Ä≥>±&É÷ Vü‰ø° Ä≥>±&ÉT ø±<äT.
ô|’ Á|üe#·Hê\qT dü÷∫+#˚ dü]jÓÆTq ∫Á‘·+

(1) (2)

(3) (4)

________________________________________________________________________

134. The number that is in all the geometrical figures is

nìï C≤´$Trj·T ∫Á‘ê˝À¢q÷ ñqï dü+K´
(1) 4

(2) 5

(3) 8

(4) 3

1

2
3

6
5

47

8
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135. In the set of real numbers the equation 2x + 3y = 5 has
(1) no solution (2) only one solution
(3) infinite number of solutions (4) finite number of solutions
yêdüÔe dü+U≤´dü$T‹˝À düMTø£s¡D+ 2x + 3y = 5 q≈£î
(1) kÕ<Ûäq Ò̋<äT (2) π̌ø ˇø£ kÕ<Ûäq ñ+~
(3) nq+‘· dü+U≤´ø£ kÕ<Ûäq\THêïsTT (4) |ü]$T‘· dü+U≤´ø£ kÕ<Ûäq\THêïsTT

________________________________________________________________________

136. The number with the second, the fifth and the eighth digits in that order of the number
31549786, is a perfect square of a two-digit number x. The units digit of x is
31549786 ˝Àì ¬s+&Ée, ◊<äe, mì$T<äe n+¬ø\‘√ @s¡Œ&˚ dü+K´ ˇø£ ¬s+&É+¬ø\ dü+K´ x ≈£î
es¡ZeTT. Ä dü+K´ x ˝Àì ˇø£≥¢ kÕúq+˝Àì n+¬ø
(1) 1 (2) 6 (3) 4 (4) 2

________________________________________________________________________

137. In a row of boys, K is fifth from the left and R is sixth from the right. If they exchange their
positions, K becomes the thirteen from the left. Then the position of R from the right is
(1) Seventh (2) Eleventh
(3) Fourteenth (4) Eighteenth
u≤\Ts¡ es¡dü˝À m&ÉeTyÓ’|ü⁄ qT+∫ ◊<äeyê&ÉT K, ≈£î&çyÓ’|ü⁄ qT+∫ Äs¡eyê&ÉT R. yê] kÕúHê\T
‘ês¡Te÷s¡T #˚düT≈£î+fÒ K kÕúq+ m&ÉeTqT+∫ |ü<äeT÷&Ée~ nsTT‘˚ ≈£î&çyÓ’|ü⁄ qT+∫ R kÕúq+
(1) @&Ée~ (2) |ü<äø=+&Ée~
(3) |ü<ëï\T>∑e~ (4) |ü<Ó›ì$T<äe~

________________________________________________________________________

138. If Rohan ranks seventh from the top and twenty-sixth from the bottom in a class, then the
number of students in the class is
ˇø£ ‘·s¡>∑‹˝À s√Vü≤Hé sê´+≈£î ô|’ qT+∫ @&Ée~, ÁøÏ+~ qT+∫ Çs¡yÓ’ Äs¡e~ nsTT‘˚ Ä ‘·s¡>∑‹˝Àì
$<ë´s¡Tú\ dü+K´
(1) 31 (2) 32 (3) 33 (4) 34

________________________________________________________________________

139. If L stands for +, M stands for –, N stands for ×, P stands for ÷ , then
[(14N10)L(42P2)]M8 = ________

L nH˚~ + ì, M nH˚~ – ì, N nH˚~ × ì, P nH˚~ ÷ ì dü÷∫ùdÔ, n|ü&ÉT
[(14N10)L(42P2)]M8 = ________
(1) 153 (2) 216 (3) 248 (4) 251

________________________________________________________________________

140. If  20 – 10 means 200, 8 ÷  4 means 12, 6 × 2 means 4,
then [(100 – 10) × (1000 ÷  1000)] ÷  (100 × 10) =

20 – 10 n+fÒ 200 n˙, 8 ÷  4 n+fÒ 12 n˙, 6 × 2 n+fÒ 4 n˙ ns¡∆eTsTT‘˚ n|ü&ÉT
[(100 – 10) × (1000 ÷  1000)] ÷  (100 × 10) =
(1) 20 (2) 1090 (3) 1900 (4) 0
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141. Square : Cube : : Area : _________
(1) Side (2) Diagonal
(3) Volume (4) Perimeter
#·‘·Ts¡Ádü+ : |òüTq+ : : yÓ’XÊ\´+
(1) uÛÑT»+ (2) $ø£s¡íeTT
(3) |òüTq|ü]e÷D+ (4) #·T≥Tºø=\‘·

________________________________________________________________________

142. There are some benches in a classroom. If four students sit on each bench, then three
benches are left unoccupied. However, if three students sit on each bench, three students
are left standing. The number of students in the class is

ˇø£ ‘·s¡>∑‹ >∑~˝À ø=ìï ã\¢\THêïsTT. ˇø=ÿø£ÿ ã\¢ô|’ q\TZs¡T ≈£Ls¡TÃ+fÒ eT÷&ÉT ã\¢\T U≤∞>±
ñ+{≤sTT. ˇø=ÿø£ÿ ã\¢ô|’ eTT>∑TZs¡T ≈£Ls¡TÃ+fÒ eTT>∑TZs¡T ì\ã&Ée\dæ ek˛Ô+~. Ä ‘·s¡>∑‹˝Àì
$<ë´s¡Tú\ dü+K´
(1) 36 (2) 48
(3) 56 (4) 64

________________________________________________________________________

143. In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If  the student attempts all 60 questions and scores 130 marks, the
number of questions correctly answered is

ˇø£ |üØø£å˝À $<ë´]∆ dü]jÓÆTq »yêãT sêùdÔ 4 e÷s¡Tÿ\T ekÕÔsTT, »yêãT ‘·|üŒsTT‘˚ 1 e÷s¡Tÿ
b˛>=≥Tº≈£î+{≤&ÉT. ˇø£ $<ë´]∆ Ç∫Ãq 60 Á|üX¯ï\≈£L »yêãT*∫Ã 130 e÷s¡Tÿ\T bı+~‘˚ n‘·qT
dü]jÓÆTq »yêãT*∫Ãq Á|üX¯ï\ dü+K´
(1) 35 (2) 38 (3) 40 (4) 42

________________________________________________________________________

144. K is twice as old as R. Three years ago, K was three times as old as R. The present age of K
(in years) is

R ø£+f… ¬s{Ïº+|ü⁄ ej·TdüT >∑\yê&ÉT K. eT÷&ÉT dü+e‘·‡sê\ ÁøÏ‘·+ K ej·TdüT‡ R ej·TdüT‡≈£î eT÷&ÉT¬s≥T¢.
K Á|üdüTÔ‘· ej·TdüT‡ (dü+e‘·‡sê˝À¢)
(1) 7 (2) 8 (3) 12 (4) 6

________________________________________________________________________

145. Age of the father is twice that of the elder son. Ten years hence the age of the father will
be three times that of the younger son. If the difference of the ages of the two sons is
15 years, the age (in years) of the father is

‘·+Á&ç ej·TdüT n‘·ì ô|<ä› ø=&ÉT≈£î ej·TdüT≈£î ¬s{Ïº+|ü⁄. |ü~ dü+e‘·‡sê\ ‘·sê«‘· n‘·ì ∫qï ø=&ÉT≈£î
ej·TdüT‡≈£î eT÷&ÉT ¬s≥T¢ ñ+≥T+~. Ä Ç<ä›s¡T ø=&ÉT≈£î\ ej·TdüT‡\ uÛÒ<ä+ 15 dü+e‘·‡sê …̋’‘˚ Ä
‘·+Á&ç ej·TdüT‡ (dü+e‘·‡sê˝À¢)
(1) 50 (2) 55 (3) 60 (4) 70
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146. Five hundred students appeared in an examination comprising English, Hindi and
Mathematics. The diagram gives the number of candidates who failed in different subjects.
The percentage of candidates who failed in at least two subjects is
Ç+ ¢̂wüß, Væ≤+B, >∑DÏ‘·+\‘√ ≈£L&çq ˇø£ |üØø£å≈£î ◊<äTe+<ä\ eT+~ $<ë´s¡Tú\T Vü‰»s¡j·÷´s¡T. ÁøÏ+~
∫Á‘·+˝À $$<Ûä düu…®≈£îº\˝À ‘·|æŒq yê] dü+K´\T Ç#êÃs¡T. ø£̇ dü+ ¬s+&ÉT düu…®≈£îº\˝À ‘·|æŒq yê] XÊ‘·+

(1) 0.078 (2) 1.8 (3) 6.8 (4) 7.8
________________________________________________________________________

147. Given a = 1.10101, b = 1.01010, c = 1.110110 and d = 1.001001. The ascending order of
these numbers is
a = 1.10101, b = 1.01010, c = 1.110110, d = 1.001001 nì Ç#êÃs¡T. á dü+K´\ Äs√Vü≤D
Áø£eT+
(1) d, c, a, b (2) d, b, a, c

(3) c, a, b, d (4) b, a, c, d
________________________________________________________________________

148. At the end of a meeting all the ten people present shake hands with each other once. The
number of  handshakes altogether is
ˇø£ düe÷y˚XÊq+‘·s¡+ Vü‰»¬s’q yÓTT‘·Ô+ |ü~eT+~ ˇø£]‘√ ˇø£s¡T ˇø£ÿkÕ] ø£s¡#ê\q+ #˚XÊs¡T. yÓTT‘·Ô+
ø£s¡#ê\Hê\ dü+K´
(1) 20 (2) 45 (3) 55 (4) 90

________________________________________________________________________

149. In a group of cows and hens if the number of legs are 14 more than twice the number of
heads.Then the number of cows is
Äe⁄\T, ø√fi¯ófl ñqï ˇø£ >∑T+|ü⁄˝À ø±fi¯fl dü+K´ yê{Ï ‘·\\ dü+K´ ¬s{Ïº+|ü⁄ ø£+fÒ 14 m≈£îÿe>±
ñ+fÒ n|ü&ÉT Äe⁄\ dü+K´
(1) 5 (2) 7 (3) 10 (4) 12

________________________________________________________________________

150. If 13 times a number added to itself gives 112, then the number is

ˇø£ dü+K´≈£î <ëì 13 kÕs¡T¢ ø£*|æ‘˚ 112 edüTÔ+fÒ Ä dü+K´
(1) 8 (2) 7 (3) 9 (4) 11

30 75

50

10

5
12 12

English

Ä+>∑¢+
Hindi

Væ≤+B

Mathematics

>∑DÏ‘·+
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Q 151-160: Directions
Study the following information carefully, to answer these questions
Spectra Ltd Co. wants to recruit computer operators for its branch offices in various places.
Following criteria are laid down for selections:
(A) Be a graduate with at least 60% marks
(B) Have passed a PG degree/diploma in computer applications with at least 65% marks
(C) Have cleared the computer skill test with at least 55% marks
(D) Be not less than 24 years and not more than 30 years of age as on 01.09.2017
However, if a candidate satisfies all these conditions EXCEPT
(i) at (B) above, but has secured at least 70% marks in computer skill test, the case is to be

referred to the GM-Admin of the company
(ii) at (D) above, but has a working experience of at least two years in Information Technology,

the case is to be referred to the GM-Personnel of the company.
In each of the questions from 151-160, the details of one candidate are given as regards his/her
candidature. You have to read the information provided and decide his/her status based on the
conditions given above and the information provided. You are not to assume anything other than
the information provided in each of the following questions. All these cases are given to you as
on 01.09.2017.
Give the answer
(I) if the candidate is to be selected
(II) if the candidate is to be referred to the GM-Administration
(III) if the candidate is to be referred to the GM-Personnel
(IV) if the data provided are inadequate to make a decision
(V) if the candidate is not to be selected
øÏ+~ düe÷#êsêìï C≤Á>∑‘·Ô>± #·~$ 151 qT+&ç 160 Á|üX¯ï\≈£î »yêãT*eTTà.
ôdŒÅø±º *$Tf…&é ø£+ô|˙ $$<Ûä ÁbÕ+‘ê˝À¢ ñqï ‘·eT ø±sê´\j·÷˝À¢ ø£+|üP´≥sY Ä|üπs≥s¡¢ ìj·÷eTø±\T
#˚j·÷\qTø=qï~. nuÛÑ́ s¡Tú\ m+|æø£≈£î ø=ìï wüs¡‘·T\T ô|{Ïº+~. n$
(A) ø£˙dü+ 60% e÷s¡Tÿ\‘√ |ü≥ºuÛÑÁ<äT\sTT ñ+&Ü*
(B) ø£˙dü+ 65% e÷s¡Tÿ\‘√ ø£+|üP´≥s¡T n|æ¢πøwüqT˝À &çÁ^/&çbı¢e÷ ø£*– ñ+&Ü*
(C) ø£̇ dü+ 55% e÷s¡Tÿ\‘√ ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å ñrÔs¡Tí̋ …’ ñ+&Ü*
(D) 01.09.2017 Hê{ÏøÏ 24 dü+e‘·‡sê\≈£î ‘·≈£îÿe ø±≈£î+&Ü, 30 dü+e‘·‡sê\≈£î $T+#·ì ej·TdüT‡

ñ+&Ü*
nsTT‘˚ me¬s’Hê nuÛÑ́ ]∆  ô|’ yê{Ï̋ À ø=ìï+{Ïì ‘·|üŒ $T–*q ìj·Te÷\qT ‘·è|æÔ|ü]ùdÔ, yê] m+|æø£≈£î øÏ+~
|ü<ä∆‹ì ne\+_+#ê*.
(i) (B) ìj·TeT+ Ò̋≈£îHêï, ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å̋ À ø£̇ dü+ 70% e÷s¡Tÿ\T kÕ~ÛùdÔ, Ä nuÛÑ́ ]úì

ø£+ô|˙ jÓTTø£ÿ »qs¡̋ Ÿy˚TH˚»sY ` |ü]bÕ\q≈£î |ü+bÕ*.
(ii) (D) ìj·TeT+ Ò̋≈£îHêï, ÇqŒ¤πsàwüHé f…ø±ï\J˝À ø£̇ dü+ ¬s+&˚fi¯fl nqTuÛÑe+ ñ+fÒ Ä nuÛÑ́ ]úì ø£+ô|˙

jÓTTø£ÿ »qs¡̋ Ÿ y˚TH˚»sỲ dæã“+~øÏ |ü+bÕ*.
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Á|üX¯ï\T 151-160 \˝À ˇø£ nuÛÑ́ ]úøÏ dü+ã+~Û+∫q $esê\T Çe«ã&çHêsTT. Ä düe÷#ês¡+‘√ Ä nuÛÑ́ ]ú
dæú‹ì ìs¡ísTT+#·e\dæ ñ+≥T+~. Ç∫Ãq düe÷#ês¡+ ‘·|üŒ eTπsMT n~Ûø£+>± }Væ≤+#·Tø√≈£L&É<äT. á
düe÷#ês¡+ n+‘ê 01.09.2017 es¡≈£î Ç∫Ãq~>± >∑eTì+#ê*.
MT »yêãTqT øÏ+~ $<Ûä+>± >∑T]Ô+#ê*.
(I) nuÛÑ́ ]úì m+|æø£ #˚ùdÔ
(II) nuÛÑ́ ]úì »qs¡̋ Ÿ y˚TH˚»sY ` |ü]bÕ\q≈£î |ü+bÕ\+fÒ
(III) nuÛÑ́ ]úì »qs¡̋ Ÿ y˚TH˚»sY ` dæã“+~øÏ |ü+bÕ\+fÒ
(IV) ˇø£ ìs¡íj·T+ #˚j·T{≤ìøÏ <ä‘êÔ+X¯+ dü]b˛ø£b˛‘˚
(V) nuÛÑ́ ]úì m+|æø£ #˚j·Tø£b˛‘˚

151. Manish has passed B.Sc (Botany) with 58% marks and has done a PG Diploma in computer
applications. His date of birth is 14th August 1994. He has cleared the computer skill test
with 58% marks.
58% e÷s¡Tÿ\‘√ B.Sc (eèø£å XÊg+) ñrÔs¡Tí&Ó’q eT˙wt ø£+|üP´≥sY n|æ¢πøwüHé̋ À &çbı¢e÷ bı+<ë&ÉT.
n‘·ì |ü⁄{Ïºq‘̊B 14 Ä>∑wüßº 1994. n‘·&ÉT ø£+|üP´≥sY kÕeTs¡∆́  |üØø£å 58% e÷s¡Tÿ\‘√ ñrÔs¡Tí&Éj·÷´&ÉT.
(1) I (2) II (3) III (4) V

________________________________________________________________________

152. Amit Sharma passed BCA examination in 2012 of the age of 22 years with 80% marks.
After working for two years she enrolled for PG in Computer Applications. She has secured
55% marks in Computer Skill Test.
22 dü+e‘·‡sê\ ej·TdüT‡qï n$T‘YX¯s¡à 80% e÷s¡Tÿ\‘√ 2012 ˝À BCA bÕ´düsTT´+~. ¬s+&ÉT
dü+e‘·‡sê\ ñ<√´>±q+‘·s¡+ ø£+|üP´≥sY n|æ¢πøwüHé̋ À ù|s¡T qyÓ÷<äT #˚düTø=qï~. ø£+|üP´≥sY kÕeTs¡∆́
|üØø£å̋ À 55% e÷s¡Tÿ\T kÕ~Û+∫+~.
(1) I (2) II (3) III (4) IV

________________________________________________________________________

153. Rajat Batra has passed BCA as well as MCA with 73% marks. He has cleared the Computer
Skill Test with 79% marks. His date of birth is 5th August 1986.
s¡»‘Y u≤Á‘ê BCA, MCA \T ¬s+&ç+{Ï̇  73% e÷s¡Tÿ\‘√ bÕ´düj·÷´&ÉT. ø£+|üP´≥sY kÕeTs¡∆́  |üØø£å̋ À
79% e÷s¡Tÿ\T kÕ~Û+#ê&ÉT. n‘·ì |ü⁄{Ïºq‘˚~ 5 Ä>∑wüßº 1986.
(1) I (2) III (3) V (4) IV

________________________________________________________________________

154. Praveen Kumar has passed BA with 68% marks and PG Diploma in Computer Applications
with 70% marks. He has secured 70% marks in Computer Skill Test. His date of birth is
08.02.1992.
68% e÷s¡Tÿ\‘√ BA bÕ´düsTTq Á|üMDY ≈£îe÷sY, ø£+|üP´≥sY n|æ¢πøwüHé̋ À PG &çbı¢e÷qT 70%
e÷s¡Tÿ\‘√ ñrÔs¡Tí&Éj·÷´&ÉT. ø£+|üP´≥sY kÕeTs¡ú´ |üØø£å˝À 70% e÷s¡Tÿ\T kÕ~Û+#ê&ÉT. n‘·ì
|ü⁄{Ïºq ‘˚B 08.02.1992.
(1) I (2) II (3) IV (4) V
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155. Sukumar passed PGDCA in 2012 at the age of 28 years with 66% marks. After working for
three years in Information Technology he enrolled for PG degree in computer applications
last year. He has secured 85% marks in his graduation as well as in Computer Skill Test.
‘·q 28 e dü+e‘·‡s¡yÓTÆq 2012 ˝À düT≈£îe÷sY 66% e÷s¡Tÿ\‘√ PGDCA bÕ´düj·÷´&ÉT. eT÷&ÉT
dü+e‘·‡sê\ ñ<√´>±q+‘·s¡+ ÇqŒ¤πsàwüHé f…ø±ï\J˝À ÁøÏ+<ä{Ï dü+e‘·‡s¡+ n‘·qT PGDCA øÏ ù|s¡T
qyÓ÷<äT #̊düTø=Hêï&ÉT. n‘·qT ‘·q |ü≥ºuÛÑÁ<ä |üØø£å̋ Àq÷, ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å̋ Àq÷ 85% e÷s¡Tÿ\T
kÕ~Û+#ê&ÉT.
(1) II (2) I (3) III (4) V

________________________________________________________________________

156. Prakash has obtained engineering degree in Computer Science with 66% marks and MCA
with 61% marks. He has secured 82% marks in Computer Skill Test. He completes
26 years of age by May 2017.
Á|üø±wt ø£+|üP´≥sY ôd’Hé‡ Ç+»˙]+>¥ &çÁ^ 66% e÷s¡Tÿ\‘√q÷, MCA ì 61% e÷s¡Tÿ\‘√q÷
bÕ´düj·÷´&ÉT. ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å̋ À 82% e÷s¡Tÿ\T kÕ~Û+#ê&ÉT. n‘·qT y˚T 2017 ø£̋ ≤¢
26 dü+e‘·‡sê\ ej·TdüT |üP]Ô #˚kÕÔ&ÉT.
(1) I (2) II (3) III (4) IV

________________________________________________________________________

157. Suji has done B.Sc (Physics) and PG Diploma in Computer Applications with 69% marks
and 56% marks respectively. She has secured 76% marks in Computer Skill Test. Her date
of birth is 10.03.1993
es¡dü>± 69%, 56% e÷s¡Tÿ\‘√ düTõ B.Sc (uÛÖ‹ø£ XÊg+), ø£+|üP´≥sY n|æ¢πøwüHé̋ À PG &çbı¢e÷\T
bı+~+~. ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å̋ À 76% e÷s¡Tÿ\T kÕ~Û+∫+~. ÄyÓT |ü⁄{Ïºq ‘˚B 10.03.1993.
(1) I (2) II (3) III (4) IV

________________________________________________________________________

158. Monica Sharma has obtained PG diploma in Computer Applications from a reputed institute.
She has cleared the Computer Skill Test with 56% marks. She will be completing 27 years
of age in July 2017.
yÓ÷ìø± X¯s¡à ˇø£ $•wüº dü+düú qT+∫ ø£+|üP´≥sY n|æ¢πøwüHé˝À PG &çbı¢e÷ bı+~+~. ø£+|üP´≥sY
kÕeTs¡ú́  |üØø£å̋ À 56% e÷s¡Tÿ\T kÕ~Û+∫+~. E …̋’ 2017 ˝À ÄyÓT 27 dü+e‘·‡sê\T |üP]Ô #˚düTÔ+~.
(1) I (2) III (3) II (4) IV

________________________________________________________________________

159. Amar is a science graduate with 61% marks. He has done MCA with 65% marks and 5 years
of experience in the area of IT. He has secured 60% marks in Computer Skill Test. His date
of birth is 01.01.1987
neTsY 61% e÷s¡Tÿ\T bı+~q $C≤„qXÊg |ü≥ºuÛÑÁ<äT&ÉT. n‘·qT 65% e÷s¡Tÿ\‘√ MCA #˚XÊ&ÉT, IT
s¡+>∑+˝À 5 dü+e‘·‡sê\ nqTuÛÑe+ ñ+~. ø£+|üP´≥sY kÕeTs¡ú́  |üØø£å̋ À 60% e÷s¡Tÿ\T bı+<ë&ÉT.
n‘·ì |ü⁄{Ïºq ‘˚B 01.01.1987
(1) I (2) II (3) III (4) IV
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160. Fatima has passed B.Sc (Honours) and MCA with 73% and 78% marks respectively. She
has cleared the Computer Skill Test with 79% marks. Her date of birth is 16.06.1991

bòÕ‹e÷ B.Sc (Honours), MCA \qT es¡dü>± 73%, 78% e÷s¡Tÿ\‘√ bÕ´düsTT´+~. ø£+|üP´≥sY
kÕeTs¡ú́  |üØø£å̋ À 79% e÷s¡Tÿ\T kÕ~Û+∫+~. ÄyÓT |ü⁄{Ïºq‘˚B 16.06.1991

(1) I (2) II (3) III (4) IV
________________________________________________________________________

Q. 161 to 170: Directions
Study the following information carefully and answer the questions given below.
Following are the conditions for admission to an engineering college. A student should
(i) be of minimum 18 years of age as on 1.7.2016.
(ii) have secured at least 50% marks in standard XII.
(iii) have secured at least 60% marks in entrance exam.
(iv) be ready to pay Rs. 20,000/- at the time of admission.
A student who fulfils all the conditions EXCEPT:
(a) at (ii) above, but has secured 80% marks in entrace exam, case to be referred to President,

Admission.
(b) at (iv) above, but can pay at least Rs.10,000/- at the time of admission, case to be referred

to Dean of the college.
Based on the above conditions and information provided in each of the question below, decide
the course of action in each case. No further information is available. You are not to assume
anything. These cases are given to you as an 1.12.2016
Mark your answer as
(I) if the student is to be admitted
(II) if the case is to be referred to President, Admissions
(III) if the case is to be referred to Dean of the college
(IV) if the data are not adequate to make decision
(V) if the student is not to be admitted

øÏ+~ düe÷#êsêìï C≤Á>∑‘·Ô>± #·~$, Á|üX¯ï\T 161 - 170 \≈£î »yêãT*eTTà.
ˇø£ Ç+»˙]+>¥ ø£fi≤XÊ\ Á|üy˚XÊìøÏ øÏ+~ ìj·Te÷\T+&Ü*. @ $<ë´]ú nsTTHê
(i) 1.7.2016 Hê{ÏøÏ ø£̇ dü+ 18 dü+e‘·‡sê\T+&Ü*.
(ii) XII ‘·s¡>∑‹˝À ø£̇ dü+ 50% e÷s¡Tÿ\T bı+~ ñ+&Ü*.
(iii) Á|üy˚X¯ |üØø£å̋ À ø£̇ dü+ 60% e÷s¡Tÿ\T bı+<ë*.
(iv) Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#˚+<äT≈£î dæ<ä∆+>± ñ+&Ü*.
nsTT‘˚ @ $<ë´]ú nsTTHê ø=ìï+{Ïì ‘·|üŒ $T–*qe˙ï ‘·è|æÔ|ü]ùdÔ, yê] Á|üy˚XÊìøÏ øÏ+~ |ü<ä∆‹ì
ne\+_+#ê*.
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(a) (ii) ìj·TeT+ Ò̋≈£îHêï, Á|üẙX̄|üØø£å̋ À 80% e÷s¡Tÿ\T bı+~‘̊ Ä $<ë´]úì Á|üẙXÊ\ n<Ûä́ ≈£åîìøÏ |ü+bÕ*.
(b) (iv) ìj·TeT+ Ò̋≈£îHêï, ø£̇ dü+ s¡T. 10,000/- Á|üy˚X¯ düeTj·T+˝À #Ó*¢+#·>∑*Z‘˚ Ä $<ë´]úì ø£fi≤XÊ\

&ûHéøÏ |ü+bÕ*.
ô|’q #Ó|æŒq ìj·Te÷\qT, |ü<ä∆‘·T\ Ä<Ûës¡+>± øÏ+<äì∫Ãq Á|üX̄ï\˝Àì $<ë´s¡Tú\ Á|üẙXÊ\qT MTs¡T ìs¡ísTT+#ê*.
eTπs düe÷#ês¡+ }Væ≤+#·Tø√sê<äT. Çe˙ï MT≈£î 1.12.2016 Hê{ÏøÏ Ç∫Ãq düe÷#ês¡+.
MT düe÷<ÛëHê\T øÏ+~ $<Ûä+>± >∑T]Ô+#ê*.
(I) $<ë´]∆ Á|üy˚XÊìøÏ nqTeT‹ùdÔ,
(II) $<ë´]∆ Á|üy˚XÊìï Á|üy˚XÊ\ n<Ûä́ ≈£åîìøÏ |ü+|æ‘˚
(III) $<ë´]∆ Á|üy˚XÊìï ø£fi≤XÊ\ &ûHéøÏ |ü+|æ‘˚
(IV) ìs¡íj·÷ìøÏ düe÷#ês¡+ dü]b˛ø£b˛‘˚
(V) $<ë´]∆ Á|üy˚XÊìï ìsêø£]ùdÔ

161. Shekhar has secured 58% and 85% in XII standard and in the entrance test respectively. He
was born on 11th January 1998. He can pay Rs. 20,000/- at the time of admission.
X‚KsYøÏ XII ‘·s¡>∑‹˝À, Á|üy˚X¯|üØø£å̋ À es¡dü>± 58%, 85% e÷s¡Tÿ\T e#êÃsTT. n‘·qT 11 »qe]
1998q |ü⁄{≤º&ÉT. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\&ÉT.
(1) I (2) II (3) III (4) V

________________________________________________________________________

162. Sheela has secured 75% and 80% marks in the XII standard and in the entrance test
respectively. She can pay Rs.10,000/- at the time of admission and was born on 15th June
1998.
XII ‘·s¡>∑‹, Á|üy˚X¯ |üØø£å̋ À¢ es¡dü>± 75%, 80% e÷s¡Tÿ\T bı+~+~ w”̋ ≤. ÄyÓT Á|üy˚X¯ düeTj·T+˝À
s¡T. 10,000/- #Ó*¢+#·>∑\<äT, 15 pHé 1998 q |ü⁄{Ïº+~.
(1) I (2) II (3) III (4) IV

________________________________________________________________________

163. Ashok was born on 17th January 1998. He has secured 65% and 75% in XII and in the
entrance test respectively. He can pay Rs.15,000/- at the time of admission.

17 »qe] 1998 q nXÀø˘ »ìà+#ê&ÉT. n‘·qT XII ‘·s¡>∑‹, Á|üy˚X¯ |üØø£å̋ À es¡dü>± 65%, 75%

e÷s¡Tÿ\T kÕ~Û+#ê&ÉT. Á|üy˚X¯ düeTj·T+˝À n‘·qT s¡T. 15,000/- #Ó*¢+#·>∑\&ÉT.
(1) I (2) II (3) III (4) V

________________________________________________________________________

164. Aruna can pay Rs. 20,000/- at the time of admission and has secured 60% and 70% in
graduation and in the entrance test respectively. She was born on 5th April 1997.
ns¡TD Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\<äT, ÄyÓT |ü≥ºuÛÑÁ<ä, Á|üy˚X¯ |üØø£å˝À¢ es¡dü>±
60%, 70% e÷s¡Tÿ\T kÕ~Û+∫+~. ÄyÓT 5 @Á|æj·T Ÿ̋ 1997 q |ü⁄{Ïº+~.
(1) II (2) III (3) V (4) IV
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165. Rita was born on 12th June 1996. She can pay Rs. 20,000/- at the time of admission. She
has secured 45% and 85% marks in XII and in the entrance test respectively.

Ø{≤ 12 pHé 1996 q |ü⁄{Ïº+~. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\<äT. XII ‘·s¡>∑‹, Á|üy˚X¯
|üØø£å̋ À¢ es¡dü>± 45%, 85% e÷s¡Tÿ\T kÕ~Û+∫+~.
(1) V (2) II (3) III (4) IV

________________________________________________________________________

166. Sunil has secured 55% and 75% in XII standard and in the entrance test respectively. He
was born on 10th November 1998. He can pay Rs. 20,000/- at the time of admission.

düT˙ Ÿ̋ XII ‘·s¡>∑‹, Á|üy˚X¯ |üØø£å̋ À¢ es¡Tdü>± 55%, 75% e÷s¡Tÿ\T kÕ~Û+#ê&ÉT. n‘·qT 10 qe+ãsY
1998q |ü⁄{≤º&ÉT. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\&ÉT.
(1) II (2) III (3) IV (4) V

________________________________________________________________________

167. Prabhat has secured 80% and 60% in the entrance test and XII standard respectively. He
can pay Rs. 20,000/- at the time of admission. He was the oldest in his class.

Á|üuÛ≤‘Y Á|üy˚X¯ |üØø£å, XII ‘·s¡>∑‹ |üØø£å̋ À¢ es¡dü>± 80%, 60% e÷s¡Tÿ\T bı+<ë&ÉT. Á|üy˚X¯ düeTj·T+˝À
s¡T. 20,000/- #Ó*¢+#·>∑\&ÉT. n‘·&ÉT ‘·s¡>∑‹˝À n‹ô|<ä› ej·TdüTÿ&ÉT.
(1) V (2) I (3) III (4) IV

________________________________________________________________________

168. Akhil was born on 9th July 1997. He can pay Rs. 20,000/- at the time of admission. He has
secured 60% and 80% in XII and in the entrance test respectively.

nœ Ÿ̋ 9 E …̋’ 1997 q |ü⁄{≤º&ÉT. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\&ÉT. n‘·qT XII ‘·s¡>∑‹,
Á|üy˚X¯ |üØø£å̋ À¢ es¡dü>± 60%, 80% e÷s¡Tÿ\T bı+<ë&ÉT.
(1) I (2) V (3) IV (4) III

________________________________________________________________________

169. Arun has secured 55% and 65% in XII standard and in the entrance test respectively. He
was born on 19th May 1997. He can pay Rs. 20,000/- at the time of admission.
ns¡TDY XII ‘·s¡>∑‹, Á|üy˚X¯ |üØø£å̋ À¢ es¡dü>± 55%, 65% e÷s¡Tÿ\T bı+<ë&ÉT. n‘·qT 19 y˚T 1997q
|ü⁄{≤º&ÉT. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\&ÉT.
(1) I (2) V (3) III (4) IV

________________________________________________________________________

170. Kamala has secured 50% and 55% in XII standard and in the entrance test respectively.
She was 16 years 5 months old as on 1st May 2014. She can pay Rs. 20,000/- at the time
of admission.
XII ‘·s¡>∑‹, Á|üy˚X¯ |üØø£å̋ À¢ ø£eT\ 50%, 55% e÷s¡Tÿ\T bı+~+~. 1 y˚T 2014 ‘˚B Hê{ÏøÏ ÄyÓT≈£î
16 dü+e‘·‡sê\ 5 HÓ\\ ej·TdüT‡+~. Á|üy˚X¯ düeTj·T+˝À s¡T. 20,000/- #Ó*¢+#·>∑\<äT.
(1) II (2) III (3) I (4) V
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Q. 171-176: Directions
In each question given below a statement is followed by three courses of action numbered
I, II and III. A course of action is a step or administrative decision to be taken for improvement,
follow-up for further action in regard to the problems, policy etc. On the assumption that everything
in the statement to be true, you have to decide which of the three given courses of action logically
follow for pursuing.

Á|üX¯ï\T 171-176 dü÷#·q\T:
Á|ü‹ Á|üX¯ï˝Àq÷ ˇø£ Á|üe#·qeT÷ <ëì yÓ+≥ I, II, III >± >∑T]Ô+∫q eT÷&ÉT ø±sê´#·s¡D\qT Ç#êÃs¡T.
ø±sê´#·s¡D n+fÒ ̌ ø£ düeTdǘ  kÕ<Ûäq≈£î, ì]∆wüº |ü+<Ûë≈£î nqT>∑TD+>± rdüT≈£îH˚ |ü]bÕ\Hê ìs¡íj·T+ ̋ ≤+{Ï$
ø±e#·TÃ. Á|üe#·q+˝À Ç∫Ãq düe÷#ês¡eT+‘ê ì»eTqTø=+≥÷ Ç∫Ãq eT÷&ÉT ø±sê´#·s¡D\˝À ‘ê]ÿø£+>±
<˚ìì nqTdü]+#ê˝À MTs¡T ìs¡ísTT+#ê*.

171. Statement : While hundreds of childless couples are waiting to have a child for adoption,
children are sold by some agencies to foreigners for huge sums of money. The agencies
source children from poor sections of society illegally.
Courses of actions:
(I) A committee should be constituted to look into this matter.
(II) A law should be enacted to make it mandatory for all nursing homes and hospitals to

record births and deaths and to admit abandoned children in specified homes.
(III) Adoption by foreigners should be completely banned.
(1) only I and II (2) only II and III
(3) only I and III (4) I, II and III

Á|üe#·q+ : dü+‘êq+ Ò̋ì nH˚ø£ e+<ä\ eT+~ <ä+|ü‘·T\T |æ\¢\qT <ä‘·Ô‘· rdüTø=+{≤ìøÏ m<äTs¡T
#·÷düTÔ+fÒ, ø=ìï dü+düú\T n~Ûø£ yÓTT‘·Ô+ Ä•+∫ |æ\¢\qT $<˚oj·TT\≈£î neTTà‘·THêïsTT. dü+|òüT+˝Àì
ù|<äyê] e<ä› qT+∫ á dü+düú\T |æ\¢\qT ø=qT>√\T #˚düTÔHêïsTT.
ø±sê´#·s¡D\T
(I) á $wüj·÷ìï >∑eTì+#·&ÜìøÏ ˇø£ dü+|òü÷ìï ìj·T$T+#ê*.
(II) nìï q]‡+>¥Vü≤√+\˝Àq÷, ÄdüT|üÁ‘·T\˝Àq÷ »qq, eTs¡D≤\qT K∫Ã‘·+>± qyÓ÷<äT #˚j·÷\H˚

ˇø£ #·{≤ºìï‘Ódü÷Ô, nHê<Ûä •X¯óe⁄\qT ì]∆wüº X¯s¡D≤\j·÷\≈£î |ü+bÕ\ì ìs¡ísTT+#ê*.
(III) $<˚oj·TT\#˚ <ä‘·Ô‘· |üP]Ô>± ìùw~Û+#ê*
(1) I, II e÷Á‘·y˚T
(2) II, III e÷Á‘·ẙT
(3) I, III e÷Á‘·y˚T
(4) I, II, III
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172. Although strict vigilance by the police has brought down the rate of night crimes, daylight
robberies and chain-snatching etc have only increased.

Courses of action:

(I) The police should be asked to stop its vigilance programme during nights.

(II) The police should be given powers to kill criminals involved in daylight robberies and
chain-snatching.

(III) The police should be directed to reorient its strategy so that daylight crimes are not
ignored.

(1) I and II (2) only III

(3) only I (4) II and III

s¡ø£åø£<äfi≤\ K∫Ã‘· ì|òü÷ <ë«sê sêÁ‹H˚sê\T ‘·–Z+#·ø£*–Hê, |ü≥º|ü>∑\T <√|æ&û\T, >=\TdüT <=+>∑‘·Hê\T
e¬>’sê\T m≈£îÿe ne⁄‘·THêïsTT

(I) sêÁ‹fi¯fl˝À s¡ø£åø£<äfi≤\ ì|òü÷qT ì\T|ü⁄<ä\ #˚j·÷*.

(II) |ü≥º|ü>∑\T <√|æ&û\T, >=\TdüT <=+>∑‘·Hê\T #˚ùd H˚s¡düTÔ\qT #·+ù| n~Ûø±s¡+ s¡ø£åø£<äfi≤ìøÏyê«*.

(III) |ü>∑{Ïy˚fi¯ H˚sê\T ñù|øÏå+#·≈£î+&Ü ñ+&˚≥T¢ s¡ø£åø£<äfi≤\T eP´Vü‰\ s¡#·q #˚j·÷\ì Ä<˚•+#ê*.

(1) I, II (2) III e÷Á‘·y˚T

(3) I e÷Á‘·y˚T (4) II, III
________________________________________________________________________

173. The bank employees have decided to go on a strike again.

(I) The employees demands should be accepted

(II) The employees going on strike should be sacked

(III) The demands made by the employees should be sympathetically considered.

(1) I or II (2) I or III

(3) II or III (4) Only III

u≤´+≈£î ñ<√´>∑T\T eT∞fl düyÓTà #˚j·÷\ì ìs¡ísTT+#ês¡T.

(I) ñ<√´>∑T\ &çe÷+&É¢qT n+^ø£]+#ê*

(II) düyÓTàô|’ yÓfi‚fl ñ<√´>∑T\qT ‘=\–+#ê*

(III) ñ<√´>∑T\ &çe÷+&É¢qT kÕeTs¡dǘ |üPs¡«ø£+>± |ü]>∑DÏ+#ê*

(1) I ̋ Ò<ë II (2) I ̋ Ò<ë III

(3) II ̋ Ò<ë III (4) III e÷Á‘·y˚T
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174. Candidates who appeared for an examination are agitating that several questions are out of
syllabus.

(I) A committee may be constituted to look into the matter.

(II) The examination may be cancelled.

(III) Re examination may be conducted if the committee recommends so.

(1) I (2) II

(3) I and II (4) I and III

dæ\ãdt̋ À Ò̋ì #ê˝≤ Á|üX¯ï\T |üØø£å̋ À e#êÃj·Tì $<ë´s¡Tú\T Ä+<√fi¯q #˚düTÔHêïs¡T.

(I) á $wüj·÷ìï n<Ûä́ j·Tq+ #˚j·T&ÜìøÏ ˇø£ ø£$T{°ì ìj·T$T+#·&É+

(II) |üØø£åqT s¡<äT› #˚j·T&É+

(III) ø£$T{° dü÷∫ùdÔ ‹]– |üØø£å ìs¡«Væ≤+#·&É+
(1) I (2) II

(3) I eT]j·TT II (4) I eT]j·TT III
________________________________________________________________________

175. Many students of the school fell ill for the fourth time in a row in the last six months after
consuming food prepared by the school canteen.

(I) School management should immediately terminate the contract of the canteen and
ask for compensation.

(II) The school management should advise all the students not to eat food articles from
the canteen.

(III) The owner of the canteen should immediately be arrested for negligence.

(1) only II (2) only III

(3) only I and II (4) only II and III

bÕsƒ¡XÊ\ ø±´+{ÏHé̋ Àì ÄVü‰s¡+ ‹ì >∑‘· Äs¡THÓ\\ ø±\+˝À es¡Tdü>± Hê\T>∑TkÕs¡T¢ Ä bÕsƒ¡XÊ\
$<ë´s¡Tú\T ndü«düú‘·≈£î >∑T] nj·÷´s¡T.

(I) bÕsƒ¡XÊ\ j·÷»e÷q´+ Ä ø±´+{ÏHé ø±+Á{≤≈£îº s¡<äT› #˚dæ, qwüº|ü]Vü‰s¡+ ø√sê*

(II) ø±´+{ÏHé̋ Àì ÄVü‰s¡ |ü<ësêú\T ‹qe<ä›ì bÕsƒ¡XÊ\ $<ë´s¡Tú\+<ä]ø° dü\Vü‰Çyê«*

(III) ø±´+{ÏHé j·÷»e÷ìì n‘·ì ìs¡¢ø£ǻ  ø±s¡D+>± n¬sdüTº #˚j·÷*

(1) II e÷Á‘·y˚T (2) III e÷Á‘·y˚T

(3) I, II e÷Á‘·y˚T (4) II, III e÷Á‘·ẙT
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176. The number of dropouts from the municipal schools has significantly increased after the
withdrawal of mid-day meal scheme.
(I) The Government should reconsider its decision of withdrawal of mid-day meal scheme.
(II) The Governmentt should close down some of the municipal schools.
(III) The Government should carry out a detailed study to find out the reasons for school

dropouts.
(1) II (2) only I
(3) only I and III (4) only II and III

eT<Ûë´Vü≤ï uÛÀ»q |ü<∏äø±ìï $s¡$T+#·Tø=qï ‘·sê«‘· eTTìdæ|ü˝Ÿ bÕsƒ¡XÊ\˝À¢ #·<äTe⁄ e÷H˚dæq yê]
dü+K´ >∑D˙j·T+>± ô|]–+~.
(I) eT<Ûë´Vü≤ï uÛÀ»q |ü<∏äø£ $s¡eTDô|’ Á|üuÛÑT‘·«+ |ü⁄qsê˝À#·q #˚j·÷*
(II) ø=ìï eTTìdæ|ü̋ Ÿ bÕsƒ¡XÊ\\qT Á|üuÛÑT‘·«+ eT÷dæy˚j·÷*
(III) $<ë´s¡Tú\T #·<äTe⁄e÷H˚j·T{≤ìøÏ >∑\ ø±s¡D≤\qT Á|üuÛÑT‘·«+ |ü]o*+#ê*
(1) II e÷Á‘·y˚T (2) I e÷Á‘·y˚T
(3) I, III e÷Á‘·y˚T (4) II, III e÷Á‘·ẙT

________________________________________________________________________

Q. 177 - 180 Directions:
In each of the following questions a statement is given followed by two courses of action.
A, B course of action is taken for improvement. Read the statement carefully and give answer as
below:
(I) if only course of action A follows
(II) if only course of action B follows
(III) if either course of action A or B follows
(IV) if both courses of action A and B follow
(V) if neither course of action A nor B follows

Á|üX¯ï\T 177-180 dü÷#·q\T:
Á|ü‹ Á|üX¯ï˝Àq÷ ˇø£ Á|üe#·qeT÷ <ëì yÓ+≥ A, B \‘√ >∑T]Ô+∫q ¬s+&ÉT ø±sê´#·s¡D\qT Á|ü‹bÕ~+#ês¡T.
‘·<ë«sê HêD´‘· ô|s¡>±\ì. MTs¡T C≤Á>∑‘·Ô>± Á|üe#·Hêìï #·~$ »yêãTqT øÏ+~ $<Ûä+>± Çyê«*.
(I) ø±sê´#·s¡D A e÷Á‘·y˚T nqTdü]+#ê\+fÒ
(II) ø±sê´#·s¡D B e÷Á‘·y˚T nqTdü]+#ê\+fÒ
(III) ø±sê´#·s¡D A Ò̋<ë B nqTdü]+#ê\+fÒ
(IV) ø±sê´#·s¡D\T, A, B \ ¬s+&É÷ nqTdü]+#ê\+fÒ
(V) ø±sê´#·s¡D A ø±ì, B ø±ì nqTdü]+#·≈£L&É<äqTø=+fÒ

https://www.freshersnow.com/



P11 41-A

P-1 Booklet Code A

177. Statement: Increasing levels of air pollution is creating health hazards for people living in
the cities.

Courses of action:

(A) All industries should be shifted to the outskirts of the cities.

(B) Transport authorities should take steps for converting all public transport vehicles to
run on CNG.

Á|üe#·q+:

yêj·TT ø±\Twǘ  ô|s¡T>∑T<ä\ e\¢ q>∑sê˝À¢ ìedædüTÔqï Á|ü»\≈£î Äs√>∑́  düeTdǘ \T ‘·̋ …‘·TÔ‘·THêïsTT.

ø±sê´#·s¡D:

(A) nìï ø£sêà>±sê\qT q>∑s¡ •yês¡¢̋ ÀøÏ ‘·s¡*+#ê*

(B) nìï s¡yêD≤ yêVü≤Hê\÷ CNG ‘√ q&ç#˚≥≥T¢ s¡yêD≤ n~Ûø±s¡T\T #·s¡́ \T #˚|ü{≤º*
(1) I (2) II

(3) III (4) IV
________________________________________________________________________

178. Statement : Despite good economic progress of the country, significant number of
undernourished children has been observed in the rural parts of the country.

Courses of action:

(A) Govt should increase Wealth Tax/Income Tax and use that money for upliftment of
the deprived class.

(B) Govt should introduce schemes like free meals in primary schools and make primary
education compulsory.

Á|üe#·q+:

<˚X¯+ eT+∫ Ä]∆ø£ |ü⁄s√>∑‹ kÕ~Û+∫Hê, Á>±MTD ÁbÕ+‘ê˝À¢ dü]jÓÆTq b˛wüD≈£î <ä÷s¡+>± >∑D˙j·T
dü+K´˝À |æ\¢\T+&É≥+ >∑eTì+#ês¡T.

ø±sê´#·s¡D :

(A) Á|üuÛÑT‘·«+ Ädæú|üqTï / Ä<ëj·T+|üqTï ô|+∫, ‘·<ë«sê e#˚Ã &ÉãT“qT nD>±]q ‘·s¡>∑‹ Á|ü»\
ñ<ä∆s¡D≈£î ñ|üjÓ÷–+#ê*

(B) Á|üuÛÑT‘·«+ ÁbÕ<∏ä$Tø£ bÕsƒ¡XÊ\˝À¢ ñ∫‘· uÛÀ»q |ü<∏äø£+ Á|üy˚X¯ô|≥º≥+, ÁbÕ<∏ä$Tø£ $<ä́ qT ìs¡“+<Ûä+
#˚ùd ˝≤+{Ï |ü<∏äø±\qT rdüT≈£îsêyê*

(1) V (2) IV

(3) III (4) II
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179. Statement: A university librarian reported increased cases of theft of books from the library.
Courses of action:
(A) Stricter security arrangements should be put in place in order to prevent such incidents.
(B) All the students in the university should be made to pay a hefty fine in order to replace

the lost books.
Á|üe#·q+:
ˇø£ $X¯«$<ë´\j·T Á>∑+<∏ë\j·÷~Ûø±] Á>∑+<∏ë\j·T+˝Àì |ü⁄düÔø±\ #√Ø ô|]–+<äì ìy˚~+#ê&ÉT.
ø±sê´#·s¡D\T:
(A) n˝≤+{Ï dü+|òüT≥q\T »s¡>∑≈£î+&Ü eT]+‘· K∫Ã‘· ì|òü÷ @sêŒ≥¢qT #˚|ü{≤º*
(B) b˛sTTq |ü⁄düÔø±\ kÕúq+˝À ø=‘·Ô yê{Ïì bı+<ä{≤ìøÏ n+<äs¡T $<ë´s¡Tú\ qT+&ç m≈£îÿe>±

»]e÷Hê $~Û+∫ edü÷\T #˚j·÷*
(1) III (2) II (3) I (4) V

________________________________________________________________________

180. Statement : At least five students were killed due to a stampede in one city school as the
students tried to leave the school building, fearing short circuit.
Courses of action:
(A) The principal of the school should be arrested immediately.
(B) The Govt should immediately order closure of the school permanently.
Á|üe#·q+:
ˇø£ q>∑s¡ bÕsƒ¡XÊ\˝À $<äT´<ëÈ‘êìøÏ uÛÑj·T|ü&ç »]–q Á‘=øÏÿdü̋ ≤≥˝À ø£̇ dü+ ◊<äT>∑Ts¡T $<ë´s¡Tú\T
eTè‹ bı+<ës¡T.
ø±sê´#·s¡D\T:
(A) Ä bÕsƒ¡XÊ\ Á|æì‡bÕ Ÿ̋qT yÓ+≥H˚ n¬sdüTº #˚j·÷*
(B) Ä bÕsƒ¡XÊ\qT XÊX¯«‘·+>± eT÷dæy˚j·÷\ì Á|üuÛÑT‘·«+ yÓ+≥H˚ Ä<˚•+#ê*
(1) I (2) II (3) III (4) IV

________________________________________________________________________

181. Two positions of dice are shown below. The number of points that appear on the face opposite
to the face containing 5 points is

¬s+&ÉT bÕ∫ø£\T øÏ+~ $<Ûä+>± ñHêïsTT. Ç+<äT˝À 5 _+<äTe⁄\T >∑\ eTTU≤ìøÏ m<äTs¡T>± ñqï
eTTK+ô|’ >∑\ _+<äTe⁄\ dü+K´

(1) 3 (2) 1 (3) 2 (4) 4

•     •
•     •

•
•

•    • •     ••     •
•

•    •
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182. P has arrived at 3:30 pm, 40 minutes later than Q. Q was present 15 minutes before the
scheduled time of the meeting. The meeting was scheduled at
(1) 2:55 pm (2) 3:00 pm
(3) 3:05 pm (4) 3:10 pm

Q ø£qï 40 ì$TcÕ\T Ä\dǘ +>± kÕ. 3.30 ì.\≈£î P e#ÓÃqT. ìØí‘· düeTj·÷ì ø£+fÒ 15 ì$TcÕ\
eTT+<˚ Q #˚s¡Tø=HÓqT. n|ü⁄&ÉT düe÷y˚X¯ düeTj·T+
(1) kÕ. 2:55 (2) kÕ. 3:00

(3) kÕ. 3:05 (4) kÕ. 3:10
________________________________________________________________________

183. If xyz represents a number written in the decimal system, then the suitable value of x in the
equation 5x2+2x5 = 887 is

<äXÊ+X¯e÷q+˝À ˇø£ dü+K´ì xyz #·÷|æ‘˚, düMTø£s¡D+ 5x2+2x5 = 887 ˝À dü]b˛j˚T x $\Te
(1) 6 (2) 7 (3) 8 (4) 9

________________________________________________________________________

184. The mirror image of  TERMINATE is

TERMINATE jÓTTø£ÿ <äs¡ŒD Á|ü‹_+ã+

(1) (2)

(3) (4)
________________________________________________________________________

185. The number of triangles in the given figure is

Ç∫Ãq |ü≥+˝À Á‹uÛÑTC≤\ dü+K´

(1) 12 (2) 18 (3) 22 (4) 26
________________________________________________________________________

186. Yard : Inch : : Quart : __________
(1) Gallon (2) Ounce (3) Milk (4) Liquid

>∑»+ : n+>∑Tfi¯+ : : ø±«sYº : __________

(1) >±´\Hé (2) WqT‡ (3) bÕ\T (4) Á<äe+
________________________________________________________________________

187. 11 : 123 : : 23 : __________

(1) 531 (2) 529 (3) 527 (4) 523

ETANIMRET

TERMINATE

TERWINATE

TERMINATE
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188. A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting next to D, D is not
sitting with E who is on the left end of the bench. C is on the second position from the right.
A is to the right of B and E. A and C are sitting together. Then the persons on either side of
A are

A, B, C, D, E \T ̌ ø£ ã\¢ô|’ ≈£Ls¡TÃHêïs¡T. B Á|üø£ÿq A, D Á|üø£ÿq C ≈£Ls¡TÃ+&ç, D, E ‘√ ≈£Ls√Ã Ò̋<äT,
E ã\¢≈£î m&ÉeT n+#·Tq ≈£Ls¡TÃHêï&ÉT. ≈£î&çyÓ’|ü⁄ qT+&ç ¬s+&√ kÕúq+˝À C; B, E \ ≈£î&çÁ|üø£ÿq
A ñ+&É>±, A, C \T ø£*dæ ≈£Ls¡TÃHêïs¡T. n|ü&ÉT A øÏ Çs¡TyÓ’|ü⁄\ ñqï e´≈£îÔ\T
(1) B, D (2) B, C (3) E, D (4) C, E

________________________________________________________________________

189. In the figure below the number in the blank space __________ is

ÁøÏ+~ |ü≥+˝À U≤∞düú\+ __________ ˝Àì dü+K´

  5 4 7 8

  6 9 5 10

  3 7 2 ?

(1) 1 (2) 4 (3) 3 (4) 6
________________________________________________________________________

190. In the figure below, the number that fits at the symbol ‘?’ is

ÁøÏ+~ |ü≥+˝À >∑Ts¡TÔ ? e<ä› dü]b˛j˚T dü+K´

(1) 18 (2) 12 (3) 9 (4) 6
________________________________________________________________________

191. In the figure below, the number that should be at the symbol ‘?’ is

ÁøÏ+~ |ü≥+˝À, >∑Ts¡TÔ ª?μ e<ä› ñ+&Ée\dæq dü+K´

(1) 0 (2) 2 (3) 11 (4) 12

12 30
18

6

16 40
24

8

45 27
18

?

0 65

4

7

1 67

8

4

? 211

0

2
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192. In the figure below, the number at the symbol ‘?’ is

ÁøÏ+~ |ü≥+˝À, >∑Ts¡TÔ ª?μ e<ä› dü+K´

(1) 64 (2) 144
(3) 169 (4) 25

________________________________________________________________________

193. In the figure below, the number that fits at ‘?’ is

ÁøÏ+~ |ü≥+˝À, >∑Ts¡TÔ ? e<ä› dü]b˛j˚T dü+K´

7 4 5

8 7 6

3 3 ?

29 19 31

(1) 3 (2) 5
(3) 4 (4) 6

________________________________________________________________________

194. In the figure below, the number that should be at the symbol ‘?’ is

ÁøÏ+~ |ü≥+˝À >∑Ts¡TÔ ª?μ e<ä› ñ+&Ée\dæq dü+K´

4 5 6

2 3 7

1 8 3

21 98 ?

(1) 94 (2) 76
(3) 16 (4) 73

16

36

9 25

25

49

16 36

49

81

36 ?
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195. The number of triangles in the given figure below

á ÁøÏ+~ |ü≥+˝Àì Á‹uÛÑTC≤\ dü+K´

(1) 18 (2) 20

(3) 24 (4) 27
________________________________________________________________________

196. The correct choice for ‘?’ in figure A from figure B.

|ü≥+ A ˝Àì >∑Ts¡TÔ ª?μ øÏ |ü≥+ B ˝Àì dü]jÓÆTq~

     (A)         (B)       (C)  (D)        I            II            III    IV      V

(1) I (2) II

(3) III (4) IV
________________________________________________________________________

197. The correct choice for ? in figure A from figure B.

|ü≥+ A ˝Àì >∑Ts¡TÔ ? øÏ |ü≥+ B ˝Àì dü]jÓÆTq~

       I            II            III   IV      V

(1) I (2) II

(3) III (4) IV

• • •
• • •

•

•
?

•

•

•

•

•
•

•

•

•

•

•

•

?
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198. If the digits of the number 5726489 are arranged in ascending order, the number of digits
that remain at the same position is

(1) none (2) one

(3) two (4) three

5726489 ˝Àì n+¬ø\qT Äs√Vü≤DÁø£eT+˝À sêùdÔ yê{Ï yÓTT<ä{Ï kÕúHê˝À¢H˚ ñ+&˚ n+¬ø\ dü+K´

(1) @MT˝Òe⁄ (2) ˇø£{Ï

(3) ¬s+&ÉT (4) eT÷&ÉT
________________________________________________________________________

199. In the number 3276158, if the digits were arranged in ascending order, the digit in the
ten-thousands place is

dü+K´ 3276158 ˝Àì n+¬ø\qT Äs√Vü≤DÁø£eT+˝À ñ+∫‘˚ e#˚Ã dü+K´˝À |ü~y˚\ kÕúq+˝ÀøÏ n+¬ø

(1) 1 (2) 2

(3) 3 (4) 4
________________________________________________________________________

200. The digit that should come next in the number sequence is

9 8 7 6 5 4 3 2 1 8 7 6 5 4 3 2 1 7 6 5 4 3 2 1

dü+U≤´qTÁø£eT+ 9 8 7 6 5 4 3 2 1 8 7 6 5 4 3 2 1 7 6 5 4 3 2 1 ˝À sêe\dæq ‘·sê«‹ n+¬ø

(1) 9 (2) 8

(3) 7 (4) 6
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